3agaHuna ansa otbopoyHoro atana OLU Cl16lY «CoBpeMeHHbIN MeHeaXkep»

Mo npegmety «MatemMatuka:

3apaua 1

BapuaHm 1. CpepnHsaa 3apaboTHas nnaTa B rpynne us vetbipex paboumnx coctaenset 537$ B MecaL, cpenHsan
3apaboTHas nnaTa B APYrou rpynne, COCTOALLLEN YXKe U3 LecTn pabounx, coctasnaeT 847$ B Mecau, Yemy
paBHa cpeaHasa 3apaboTHanA nnarta B o6eunx rpynnax (1.e. cpefHas 3apaboTHaA naTa aTUX AeCATEPbIX
pabounx)?

1.661$ B MecaL,

2.692% B MecsL,

3.723% B MecsL,

4. HeBO3MOXKHO BblYMCNUTb MO UMEIOLLMMCA AaHHbIM.

BapuaHm 2. CpepnHas 3apaboTHas nnaTa B rpynne ua wectn paboumnx coctasnsaet 537$ B Mmecau, cpeagHas
3apaboTHasA nnaTa B 4pYrou rpyrnne, COCTOALLLEN Y>Ke U3 yeTblipex pabouunx, coctasnaeT 847$ B Mmecau,. Yemy
paBHa cpegHAa 3apaboTHaA nnata B o6eunx rpynnax (T.e. cpegHAA 3apaboTHana niarta 3TUX AecATepblX
pabounx)?

1.661% B MecAL,

2.692% B MecAL,

3.723% mecal,

4. HeBO3MOXXHO BbIYMCUTb MO MMEIOLLMMCA AaHHbIM.

BapuaHm 3. B rpynne n3 gecatu pabounx cpeaHasa 3apaboTHan nnata coctasnsaeT 749$ B Mecay,. 31y rpynny
pa3bunn Ha aBe, TakuM 06pas3oM, UTo cpeaHan 3apaboTHas nnarta B nepsown rpynne coctasnaeT 539$ B mecsu,
a cpenHAsa 3apaboTHas nnaTa BO BTOpoW rpynne coctasnaet 839$ B MecAl,. Hangute, CKonbKo YenoBeK B
nepBow rpynne.

1. 3uenoBeka

2.4 4yenoeeka

3. 5 4enosek

4. HeBO3MOXKHO onpeaennTb No UMEKLWMMCA AaHHbIM.

BapuaHm 4. B rpynne n3 gecatu paboumnx cpeaHaa 3apaboTHas nnata coctaenaet 749$ B Mmecau,. 31y rpynny
pa3bunu Ha ABe, TakMM 06pas3oM, UTo cpeaHada 3apaboTHan nnarta B mepBown rpynne cocrasndet 539$ B mecAL,
a cpefHasa 3apaboTHana nnarta Bo BTOpou rpynne coctasnaeT 1064$ B Mecau. Hanante, cKonbko YenoBek BO
BTOpOW rpynne.

1. 3 yenoseka

2.4 yenoseka

3. 5 yenoBek

4. HeBO3MOXHO ONpeaenmTb No UMEOLLMMCA JaHHbIM.

BapuaHm 5. B rpynne 13 Heckosnbkux pabounx cpenHasa 3apaboTHana nnata coctasnsaeT 749$ B mecay,. 31y
rpynny paséunu Ha ase, TakuM 06pasoM, UTo cpeaHaa 3apaboTHan nnarta B MepBow rpynne coctaenaet 539% s
MecsL, a cpeaHasa 3apaboTHana nnarta Bo BTOpoM rpynne coctasnaet 839$ B MecaL,. Hanaute, ckonbko Yenosek
B 06eunx rpynnax, eCnm n3BecTHO, YTO B MePBOM rpynne 3 YesioBeka.

1.5 4enoBek

2.6 yenosek

3. 10 uenoBek

4. HeBO3MOXKHO onpeaenuTb No UMEKLMMCA AaHHbIM.

BapuaHm 6. B rpynne 13 Heckosnbkux pabounx cpenHas 3apaboTHana nnata coctasnsaeT 749% B mecay,. Oty
rpynny paséunu Ha ase, TaknuM o6pa3oM, UTo cpeaHana 3apaboTHas nnaTta B NepBoun rpynne coctasnsaer 539$ B
MecsAL, a cpeaHAs 3apaboTHadA nnarta Bo BTOpoun rpynne cocTtasnsaeT 1064$ B mecau,. HanguTe, ckonbko
uesioBeK B 06eunx rpynnax.

1. 3uenoBeka

2.4 yenoseka



3. 5 yenoBek
4. HeBO3MOXKHO OonpeaenuTb No UMEKLLMMCA AaHHbIM.

3apaua 2

BapuaHm 1. Kak uameHutca npubblnib Npeanpuatna, ecnm yBenmumTb YUMCNO MPON3BOAMMON NPOSYKLUMN Ha
15%, a ueHy 3a eguHMLY NPOAYKTa YyMEHbLUUTb Ha 20%7?

1. Mpnbbinb yMeHbLIMTCA Ha 8%.

2. Mpunbbinb yMeHbLINTCA Ha 5%.

3. Mpunbbinb yMmeHbwINTCA Ha 1%.

4. Mpwnbbinb yBenmumtca Ha 5%.

BapuaHm 2. Kak uameHutca npuboblib Npeanpuatna, eCnm yBenmumtb YUMCNO MPON3BOAMMON NPOSYKUMN Ha
30% 1 yMeHbLUNTb LiEeHY 3a egmHMLy npoaykra Ha 20%?

1. Mpubbinb yMeHbLUMTCA Ha 8%.

2. Mpnbbinb yMeHbLINTCA Ha 4%.

3. MNpnbbiNb He N3MeHUTCA.

4. Mpunbbinb yBennumtca Ha 4%.

Bapuarnm 3. Kak nameHumntca npmnbbinb NpegnpusaTms, eCnm yBenmMumnTb YACIO NPOM3BOAMMON NPOAYKLMN Ha
20% u yMeHbLUNTb LieHY 3a eanHuLy npoaykta Ha 20%?

1. Mpubbinb yMeHbLUMTCA Ha 8%.

2. Mpnbbinb yMeHbLINTCA Ha 4%.

3. Mpunbbinb HE N3MEHUTCHA.

4. Mpwnbbinb yBenmumntca Ha 4%.

BapuaHm 4. Kak uameHutca 3apaboTHas nnata ogHoro pabouero, ecnm npeanpuatne yBesmynio TpaTtbl Ha
BbINnnaTty 3apaboTHon nnatbl paboumm Ha 20% u cokpaTruno umcno paboumx Ha 20%?

1. 3apaboTHada nnaTta yMeHbLUUTCA Ha 40%.

2. 3apaboTHasa nnarta ysenn4imtca Ha 40%.

3. 3apaboTHasa nnarta He MUBMEHUTCA.

4. 3apaboTHas nnata yBennuurtcsa Ha 50%.

BapuaHm 5. Kak uameHutca 3apaboTtHas nnata ogHoro pabouero, ecnm npeanpuaTne yBesmynio Tpatbl Ha
BbIiNnaTy 3apaboTHoM nnatbl pabo4vnM Ha 12% u cokpaTtmno uncno paboumx Ha 20%?

1. BapaboTHada nnaTta yMeHbLUUTCA Ha 40%.

2. 3apaboTHasna nnarta yeennumtca Ha 40%.

3. 3apaboTHada nnata He U3MEHUTCA.

4. 3apaboTHas nnata yBennuutcsa Ha 50%.

Bapuarnm 6. Kak namenmntca sapabortHas nnata ogHoro pabouyero, ecnu npeanpuaTne yBennm4mnno TpaThbl Ha
BbiNnnaTy 3apaboTHo nnatbl pabo4vnmM Ha 20% 1 cokpaTtmno uncno paboumx Ha 40%?

1. 3apaboTHada nnaTta yMeHbLLUUTCA Ha 100%.

2. 3apaboTHasd nnata yBennumtcsa Ha 100%.

3. 3apaboTHasa nniata He USBMEHUTCA.

4. 3apaboTHas nnata yBennuurtcsa Ha 75%.

3apaua 3

BapuaHm 1. N'HBecTOp BbibMpaeT Mexxay AByMA npeanpuatuamMm A u 6. B KoHLe roga oH MOXET BOXKUTb UK
N3BATb X MUIIMOHOB pybrien B 04HO U3 NpeanpuaTuia (ecnn x > 0, TO CYMTaAETCA UTO MHBECTOP BK1aabiBaeT
OeHbrv B BbibpaHHoe npegnpuaTtue; ecnm x < 0 To cumMTaeTcH, YTO MHBECTOP U3bIMaEeT AeHbIM U3 BbiIBpaHHOro
npeanpuaTtma; ecnu x = 0, To cunTaeTcA, YTO MHBECTOP HEe BKaAblBAET N HE U3bIMaeT AeHblrN — T.e. HNYEero He
nenaer). [Nocne Toro, Kak oH Bbibpan npeanpuaTve, OH AOMKEH yNAaTUTb Hanor (gaxe ecnm peLuma HUKaK He
nepemeLlaTb CpeacTBa).

Mpwu BbIGOPE NpeanpuATUA A MHBECTOP CBEPXY AO/MKEH ynnaTuTb 1/ x2 + 2|x| + 1 Teicau py6nei Hanora. Mpwu
Bblbope npeanpuaTnua b MHBECTOP CBEPXY AO/MKEH ynnaTuTb |x+1| Teicau pybnen Hanora. Hanpumep, x = 1/10



6yaeTt o3HauyaTb, UTO MHBECTOP peLumn BnoxknTb 100 000 pybnen B kakoe-To npegnpuatne. Ecnm nHeectop
BbibepeT npeanpusatme b, To oH gomkeH byget ynnatutb |x + 1| =]1/10+1| = 1.1 Tbicay pybnen Hanora.
BbiacHUTe, Kakoe N3 yTBepXXAeHUIN ABMAETCA BEPHbIM:
1. Mpw BNOXKEHNU NN N3 BATUM LLENOT0 Yncna MUAINOHOB pybnen Hanoroeble Bbinnatbl 6yayT
o4nHaKoBbIMK g1a o6omx NpegnpuATUA.
2. Hanorosble BbinnaThl 6yayT oAnHaKOBbIMK 1A 060mx NpeanpuAaTUA, eC/IM MHBECTOP PELLUT N3bATb
OEeHbru.
3. Hanorosble BoinnaThl 6yayT oanHaKoBbIMKU 1A 060mx NpeanpuATUA, eC/IM MHBECTOP PELLUT UK
BNOXWTb OEHBIW, UTN HUYETO HEe fenartb.
4. Cpepm nepeumcneHHblx yTBEP>XXAEHUM HET BEPHOTO.

Moackaska: paccMompume ypaBHeHue v/ x% + 2|x| + 1 = |x+1|

BapuaHm 2. NHBecTOp BbiOBMpaeT Mexxay AByMA npeanpuatuamMm A n 6. B KoHLe roga OH MOXET BAOXKUTb UK
M3 BATb X MUIIMOHOB pybrien B 04HO 13 Npeanpuatin (ecnm x > 0, TO cunTaeTca, YTO MHBECTOP BKIagbiBaeT
OeHbru B BbibpaHHoe npeanpuatme; ecnm x < 0, TO cuMTaeTcA, YTo MHBECTOP M3bIMaeT AeHbIM U3 BbiIBpaHHOro
npepnpuaTtua; ecnu x = 0, TO cUMTaeTCA, YTO MHBECTOP HEe BKNaAbIBAET U HE U3bIMAET AEHbIMN — T.€. HUYETO HE
nenaert). [locne Toro, kak oH Bbi6pan npeanpuaTne, OH A40/KEH yNNaTUTb Hanor (gax<ke ecnum peLunn HUKaK He
nepeMeLLlaTb CpeacTBa).

Mpw BbiIGOpe NpeanpuATUA A UHBECTOP CBEPXY AO/MKEH yNnaTntb /x2 — 2|x| + 1 pybnei Hanora. Mpu BbiGope
npeanpuatTma b nHBeCcTop CBEPXY A0/MKEH ynnaTuTb Hanor |x+1| pybnen Hanora. Hanpumep, x = 1/10 6ynet
03Hau4aTb, YTO MHBeCTOp peLunn Bnoxkntb 100 000 pybnen B kakoe-To npeanpuatue. Ecnn nHeectop BbibepeT
npeanpuatme b, To oH gonXeH 6yaet ynnatutb [x + 1| =|1/10+1] = 1.1 Tbicau pybnen Hanora.
BbificHUTe, Kakoe 13 yTBePXXAEeHWIN ABNAETCA BEPHbIM:
1. Mpuv BNOXKEHUN NN U3BATUM LLENOTO YMCa MUNTMOHOB pybrien Hanoroeble BoinaaTtbl 6yayT
oaunHaKoBbIMK A1 06omx NpegnpUATUA.
2. Hanorosble BbinnaTbl 6yayT ogMHaKoBbIMM Ana o6oux npeanpusTuin, eCrivi UHBECTOP PEeLUUT BAOXKUTb
OeHbrn.
3. Hanorosble BbinnaTbl 6yayT ogMHaKkoBbIMM Ana o6oux npeanpusaTuin, eCrim UHBECTOP PeLLUUnT UIn
N3bATb AEHbIN, NN HUYETrO He Aenarthb.
4. Cpepm nepeumncneHHblX yTBEPXXAEHMIM HET BEPHOTO.

lMoackaska: paccMompume ypaBHeHue /x? — 2|x| + 1 = [x+1|

BapuaHm 3. NHBecTOp BbiOMpaeT Mexxay AByMA npeanpuatuamm A u 6. B KoHUe roga oH MOXKET BNOXKUTb UMK
M3 BATb X MUNNVMOHOB pybnen B o4HO U3 NpeanpuATui (ecnm x > 0, To cUMTaETCA, YTO MHBECTOP BKIaAblBaeT
OeHbru B BbiIbpaHHoe npeanpuatmne; ecnm x < 0, To cuMTaeTcd, YTo MHBECTOP M3bIMaeT AeHbIM U3 BbiI6paHHOro
npeanpuaTua; ecnu x = 0, TO cUMTaeTCA, YTO MHBECTOP HE BKNaAblBaeT U He U3bIMaeT AeHbr — T.€. HUYEro He
nenaer). [Nocne Toro, kak oH Bbibpan npeanpuAaTe, OH AO/MKEH yNAaTUTb Hanor (gaxke ecnv peLuna HUKaK He
nepemMeLlaTb CpeacTBa).

Mpwu BbIGOpe NpeanpuATUa A UHBECTOP CBEPXY AO/MKEH yNnatntb «/x2 + 2|x| + 1 Teicau pybnen Hanora. Mpu
BbI6Ope NpeanpuAaTua b MHBECTOP CBEPXY AO/KEH ynnaTuTb |x+1| Teicay pybnen Hanora. Hanpumep, x = 1/10
6yaert o3HauaTb, UTO MHBECTOP peLumnn BroxkmnTb 100 000 pybnen B kakoe-To npegnpuatne. Ecnm nueectop
BbibepeT npeanpusatmne b, To oH aomxkeH byaet ynnatutb [x + 1| =[1/10+1] = 1.1 Tbicsau pybnen Hanora.
BbiacHUTe, Kakoe N3 yTBEPXKAEHUI ABNAETCA BEPHbIM:
1. Ecnu vHBECTOp peLunT BNOXKUTb UIN N3bATb LLESI0E YNCN0 MUINMOHOB pybnen, To OH ynnaTtut
6onblue Hanora, ecnu BoibepeT npegnpuatue A, Yem ecnu Boibepert b.
2. Ecnn nHBECTOp PELLNT N3bATb AEHBLIU, TO EC/TN OH BbibepeT NpegnpuaTue A, To OH ynnatmut 6onblue
Hanora, yeM ecnu BblbepeT b.
3. Ecnn nHBECTOP PELLUT N3bATb AEHBIV U HUYETO C HAMW He AenaTb, TO eC/IN OH BbibepeT
npeanpusatue A, oH ynnatut 6onblue Hanora, yeM ecnu BbibepeT b.
4. Cpenm nepevncneHHbIX yTBEPXKAEHNI HET BEPHOTO.

lMoackaska: paccMompume HepaBeHCMBO / x2 + 2|x| + 1> |x+1|

BapuaHm 4. |/|HBeCTOp Bbl6|/1paeT MeXay AByMA npeanpmnaTtmaMmm Anb. B KOHLE roga OH MOXET BIOXKNTb UM
N3BATb X MUJIJTTMOHOB py6r|el7| B O4HO N3 I'Ipe,El,I'IpVIFITVIVI (eCI'Il/I x >0, TO cumTaetca, 4YTo MHBECTOP BK/1agblBaeT
AEHbIN B Bbl6paHH06 npeanpuAaTne; ecnn x < 0, To cuuTaerca, 4To MHBECTOP n3biMaeT oeHblrn N3 BblﬁpaHHOFO
npeaonpumAaTtuAa; eCnnm x = 0, To cumTaerca, 4To MHBECTOP HE BKNaabiBaeT U HE U3bIMaeT AEHbIM —T.€. HN4YEero He



nenaer). MNocne Toro, kak oH BbiGpan npeanpuAaTMe, OH AO/KEH YNIaTUTb Hanor (gaxke ecriv peLuunn HUKakK He
nepeMeLLaTb cpeacTea).

Mpwu BbIGOPE NpeanpuATUA A MHBECTOP CBEPXY AO/MKEH ynnaTuTb 4/ x2 — 2|x| + 1 Teicau py6nein Hanora. Mpwu
Bblbope npeanpuATnA b MHBECTOP CBEPXY AO/MKEH yNnaTuTb |x+1| TeicAY pybnen Hanora. Hanpumep, x = 1/10
6yneT o3HauaTb, YTO MHBECTOP pewwmnn Bnoxxutb 100 000 pybnen B kakoe-To npeanpuAtne. Ecnm nHueectop
BblbepeT npeanpusatme b, To oH gomkeH byget ynnatutb |x + 1| =|1/10+1| = 1.1 Tbicay pybnen Hanora.
BbiacHUTe, Kakoe N3 yTBep>XKAeHWIN ABMAETCA BEPHbIM:
1. Ecnu vHBECTOp peLmnT BAOXKNUTb UM N3bATb LesI0e YNCN0 MUNNMOHOB pybnen, To OH ynnatut
6onblue Hanora, ecnu BoibepeT npegnpuatue b, yem ecnu BoibepeT A.
2. Ecnn nHBeCTOp peLUmnT N3 bATb AEHBLIU, TO €C/IN OH BbibepeT npepnpuatme b, To oH ynnatnt 6onbLue
Hasnora, 4eM ecnu BbibepeT A.
3. Ecnn nHBECTOp peLumnT N3bATb AEHBIV UIN HUYETO C HAMW He AenaTb, TO eC/in OH BbibepeT
npepnpuatne b, oH ynnatut 6onbLue Hanora, 4eM ecnu BoibepeT A.
4. Cpepy nepeumncneHHblx yTBEP>XXAEHMM HET BEPHOTO.

lMoackaska: paccMompume HepaBeHCmMBO +/x? — 2|x| + 1 < |x+1|

BapuaHm 5. HBecTOp BbiOMpaeT Mexxay AByMA npeanpuatuamMm A n 6. B KoHUe roga oH MOXKET BNOXKUTb UK
N3BATb X MUIIMOHOB pybrien B 04HO 13 Npeanpuatuni (ecnm x > 0, TO cunTaeTca, YTO MHBECTOP BKIagbiBaeT
OeHbru B BbibpaHHoe npeanpuatmne; ecnm x < 0, TO cUMTaeTcA, YTO MHBECTOP M3bIMaeT AeHbIM U3 BbiI6paHHOro
npegnpuaTtua; ecnu x = 0, TO cUMTaeTCA, UTO MHBECTOP HE BKNAAbIBAET M HE U3bIMAET AEHbIMN — T.€. HUYETO HE

nenaert). [locne Toro Kak oH Bbibpan npeanpuATne, oH AO/MKEH YyNIaTUTb HaNor (4ax<e ecnuv peLuns HUKaK He
nepemMeLlaTb CpeacTaa).

Mpw BbIGOpE NpeanpuATUS A UHBECTOP CBEPXY AO/MKEH yNnatntb /x2 + 2|x| + 1 Teicau pybnen Hanora. Mpu
Bblbope npeanpuaTna b MHBECTOP CBEPXY AO/MKEH yNnaTuTb |x+1| TeicAu pybnen Hanora. Hanpumep, x = 1/10
6yaert o3Hauyatb, UTO MHBecTOp peumnn BnoxkmnTb 100 000 pybnen B kakoe-1o npegnpuaTtue. Ecnmn nHeectop
BbibepeT npeanpusatmne b, To oH aomxkeH byaet ynnatutb [x + 1| =[1/10+1]| = 1.1 Tbicsau pybnen Hanora.
BbiacHUTe, Kakoe N3 yTBeEP>XXAEHUI ABNAETCA BEPHbIM:
1. Ecnu vHBecTOp peLunT BNOXKUTb UIN N3bATb LLESI0E YNCI0 MUINIMOHOB pybnen, To OH ynnaTtut
6onbLue Hanora, ecnu BoibepeTt npegnpuatue b, uem ecnu BoibepeT A.
2. Ecnn nHBeCTOp peLumnT n3bAaTb AEHBLIU, TO EC/TN OH BbibepeT NnpegnpuaTtue b, To oH ynnatnt 6onblue
Hasnora, yeM ecnm BblbepeT A.
3. Ecnn HBECTOP PELLUT BIOXKMUTb AEHbIM NN HAYETO C HUMMU He [enaTtb, TO ec/iv OH BbibepeT
npepnpuatne A, oH ynnaTtut He 6onbLue Hanora, YeM ecnu BoibepeT b.
4. Cpepm nepeumncneHHblX yTBEPXXAEHMM HET BEPHOTO.

lMoackaska: paccMompume HepaBeHCMBO / x? + 2|x| + 12 |x+1|

BapuaHm 6. NHBecTOp BbibMpaeT Mexxay AByMA npeanpuatuamm A n 6. B KoHLe roga oH MOXKET BNOXKUTb UMK
N3bATb X MUITIMOHOB pybnen B 0gHO U3 Npeanpuatuin (ecnm x >0, To cUUTaeTCs, UTO MHBECTOP BKIaabiBaeT
OeHbrv B BbiIbpaHHOEe npeanpuaTtue; ecnm x <0, To cumMTaeTca, YTo MHBECTOP U3bIMaET AeHbIM N3 BbIBpaHHOro
npeanpuaTua; ecnu x = 0, TO cuMTaeTCA, YTO MHBECTOP HE BKNaAblBaeT U He U3bIMaeT AeHbl —T.€. HUYEro He
nenaer). [Nocne Toro, kak oH Bbibpan npeanpuAaTe, OH AO/KEH yNAaTUTb Hanor (gaxke ecn peLuna HUKaK He
nepemMeLlaTb CpeacTBa).

Mpw BbIGOPE NpeanpuATUA A MHBECTOP CBEPXY AO/MKEH ynnaTuTb 4/ x2 — 2|x| + 1 Tbicau py6nei Hanora. Mpwu
BbI6Ope NpeanpuAaTua b MHBECTOP CBEPXY AO/KEH ynaaTuTb |x+1| Teicay pybnen Hanora. Hanpumep, x = 1/10
6yaert o3HauyaTtb, UTO MHBECTOP peLumnn BoxkmnTb 100 000 pybnent B kakoe-To npegnpuatne. Ecnm nHeectop
BbibepeT npeanpusatme b, To oH gomkeH byaet ynnatutb |x + 1| =|1/10+1| = 1.1 Tbicay pybnen Hanora.
BbifcHUTe, Kakoe 13 yTBePXXAEHWIN ABMNAETCA BEPHbIM:
1. ECnv MHBECTOP PEeLUmnT BNOXKNTb UKW N3BATb LLENIOE YNCN0 MUISIMOHOB pyben, To OH ynnatmut
6onblue Hanora, ecnu BoibepeT npegnpuatue b, uemM ecnu BoibepeT A.
2. Ecnv nHBecTop peLwunT u3bATb AeHbrv, TO ecnn OH BbibepeT Npeanpuatne b, To oH ynnatut 6onblue
Hanora, yeM ecnu BbibepeT A.
3. Ecnn nHBecTop peLumnT n3bATb 4EHBIV UIN HUYETO C HAMW He AenaTb, TO eC/in OH BbibepeT
npepnpuatmne b, oH ynnatut He 6onbLue Hanora, YeM ecnu BoibepeT A.
4. Cpepoy nepeymncneHHblx yTBEP>XXAEHUN HET BEPHOTO.

lMoackaska: paccMompume HepaBeHCMBO / x2 — 2|x| + 1 < |x+1|



3apaua 4

BapuaHm 1. CtyaeHT NeTsa BbilLen n3 o6LWLeXNTUS 1 NoLLen B YHUBEPCUTET CO CKOPOCTbHo 3 KM/U. Yepes 10
MMHYT OH BCMOMHM/, YTO 3a6biN B 06LLLEXXUTUM CBOM CMapTPOH, 1 nocneLwmn 3a HUM 06paTHO CO CKOPOCTbHO 5
kM/u. Korpa MeTta B3sn cMapTHOH, OH 3aMeTU/, YTO ona3abiBaeT Ha KOHTPObHYtO. MeTa nobexxan B
YHUBEPCUTET CO CKOPOCTbIO 8 KM/Y 1 MOABUNCA B aygUTOPMKM POBHO B TO BPEMA, B KOTOpOoe npuiuen 6bl, ecnu
6bl He 3a6b1/1 cMapTPoH. HananTte pacctoaHme oT 06LLEXXNUTMA 40 YHUBEPCUTETA.

1.1km

2.1,2KM

3.1,28 kM

4.1,36 kM

BapuaHm 2. CtygeHT NeTa BbiLLEeN M3 foMa CO CKOPOCTbIO 3 KM/4, UTO6bI AONTKN 40 YHUBEPCUTETA POBHO K
Ha4any 3aHATUN. OgHaKo, No NyTK OH BCTPETWUN CBOEero agpyra Bacro, octaHOBUACA M NPOroBopwua ¢ HUM 15
MUHYT. INocne pasroeopa lNeTa wen co ckopocTbio 4 KM/Y 1 fobpanca oo yHMBepcmuTeTa pOBHO B TO BPEMSA, UTO
n nnaHuposan. Hangurte paccrtoAanme, nponaeHHoe NeTter oT MecTa pa3roBopa c Bacel no yHuBepcutera.

1.2,5KM

2.3 KM

3.3,5kM

4.4 kM

BapuaHm 3. CtyaeHT NeTsa naet K TpaMBanHOM OCTaHOBKE BA,0/b NyTeN Mo xoay ABMXXEHMA TpaHcnopTa. 3a 200
METPOB [0 ocTaHOBKM [1eTa yBuaen, 4To ero 4oroHAeT TpamMBan. B aToT MOMeHT pacctosHue Mmexay lNeten n
TpaMBaeM cocTaendeT 400 MeTpoB, TPaMBal e4eT Co CKOpPOCTbto 15 KM/Y, a lNeTnHa ckopocTb 4 kM/4. MNepen
OCTaHOBKOW €CTb CBETODOP, KOTOPbIN MOXET 3aaep>kaTb NPubbITUE TpaHcnopTa. CKoMbKO BpeMeHM TpaMBan
[O/MKEH NPOCToATb Ha cBeTodope, uTobbl [1eTa okazanca Ha ocTaHOBKE O4HOBPEMEHHO C TpaMBaeM?

1. 30 cekyHg

2. 32 cekyHabl

3. 34 cekyHabl

4. 36 cekyHq

BapuaHm 4. CtygeHT NeTa TpeHMpyeTCca Ha KpyroBon gopoxkke gnnHom 2 kM. CHavana Neta npo6exkan aga
Kpyra co ckopocTtbto 10 KM/4U, MOTOM YeTBEPTb Kpyra co CKOpPOCTbO 15 KM/4, a ganee oH 6eran co CKOPOCTbHO
12 km/4. Ckonbko BpeMeHu 3aHsana lNeTnHa TpeHnpoBKa, ecnm Bcero oH npobexkan 8 kmM?

1. 40 MUHyT

2. 41 MUHYTY

3. 42 mnHyT 30 cekyHA,

4. 43 MnHyTbl 30 cekyHp,

BapuaHm 5. PaccTtoaHue Mexxay npuctaHamum A n B pasHo 120 kM. /13 A B B no TeueHumto peku oTnpaBuncs
nnoT, a Yepes yac BCried 3a HMM OTrnpaBuiach sxTa, kotopasd, NpmbbiB B NYHKT B, ToTuac noBepHyna o6paTtHo n
Bo3BpaTtmnach B A. K aToMy BpeMeHM nioT npoiuen 24 kM. YeMy paBHa CKOPOCTb AIXTbl B HENOABW>KHOW BOAE,
€C/1IN CKOPOCTb TeYEHUA pekn paBHa 2 KM/Y?

1.22 KkM/u4

2.32 kM/yY

3.12 kM/y

4.8 kM/Y

BapuaHm 6. 13 nyHKTa A KpyroBoW Tpacchl Bblexan Benocuneaunct. Yepes 30 MUHYT OH €eLLe HE BEPHY/ICA B
NYHKT A, 1 N3 NMyHKTa A cnefoM 3a HMUM OTNpaBuaca MOToLMKANCT. Yepes 10 MMHYT Noc/ie OTNpaB/ieHUA OH
[OrHan BenocuneancTa B Nepsbil pas, a ewe yepe3 30 MUHYT NOC/e 3TOro AOrHana ero Bo BTOpon pas. Yemy
paBHa CKOPOCTb MOTOUMKAWCTA, eCNu AAnHa Tpacchl paBHa 30 KM?

1. 80 kM/uy

2.70 kKM/y

3.90 kM/y

4.76 KM/u



3apaua s

BapuaHm 1. Ha HEKOTOPOM 3aBoe OTHOLLUEeHME KO/In4YecTBa BbII'IyCKaeMOIZ npoaykKumn K Konmm4ecTBy

3anyacTten nog4vnHseTcs 3aKoHy:
YuCI10 BBINyCKaeMOU NPOAYyKIUMH 27X 111

+——+
Ywucio 3amyacTen - 2V7-1 3V7-4 1-47’
roe x npeacrtasndaeT cobol oTHOLLEeHne ornepartopoB CTaHKOB KYNCNYy CTAHKOB. NMoHATHO, YTO X

npeacTaBnseTca B BUge m/n, raoe m—4Yncno onepaTopos, n— YMCNO0 CTAHKOB, CyTb YMcna Lesnble U
HeoTpuLUaTesbHbIE.
CyLuecTByeT M TakoM X, YTO OTHOLLIEHWE KOJTMYECTBA BbiNMyCKaeMoW NpoayKLMM K KONMYECTBY 3anyacTten
Takoke NpeacTaBnseTcs B Buae p/q, rae p n g 6yayt HeoTpuuaTtenbHbIMU LLENbIMU YncnamMm?

1. Hert, He cyLwiecTByerT.

2. Oa, cyuiecTByeT, NPy 9TOM X BbIMNO/IHEHO:

3. [a, cyuiecTByeT, NPy 9TOM X BbIMNO/IHEHO:

QIR IV IT
NINN|W O

4. a, CyLLEeCTBYET, NP 3TOM X BbINOJ/THEHO:

BapuaHm 2. Ha HekoTopoM 3aBoe OTHOLLEHWE KO/TMYECTBA BbliMyCKaeMoM NPOAYKLMN K KOSINYECTBY
3an4acTen NoAYNHAETCA 3aKOHY:

YuCJ10 BbINyCKaeMOH NPOAYKUMU 51 + 12 + 199
Yucsio 3anyacteit - 24/13-1  y/13+5 = 441343’

roe x npeacrtaBnaeT cobor oTHOLLEHME ONepaTopoB CTAHKOB K YMCy cTaHKOB. [TOHATHO, YTO X
npencTaBnseTca B BUAe m/n, roe m—4mcno onepaTopoB, n — YNCA0 CTAHKOB, CyTb YMCNa LieNble U
HeoTpuuaTenbHbie. CyLLLECTBYET /I TAKOW X, YTO OTHOLLEHWNE KONTMYECTBA BbiNyCKaeMoW NpoayKLunm K
KO/IMYeCTBY 3anyacTen Takke NpeacTaBiaeTca B Buae p/q, roe p u q 6yayTt HeoTpmuaTenbHbIMU LLENTbIMU
uncnammn?

1. Hert, He cywiecTByerT.

2. [la, cyuiecTByeT, NIpM 3TOM X BbIMO/HEHO:
3. [la, cyLiecTByeT, NpU 3TOM X BbIMO/THEHO:

4. Nla, cyuiecTByeT, NPU 9TOM X BbINOMHEHO:

Qv I T
NINNIR O

BapuaHm 3. Ha HekoTopoM 3aBo/e OTHOLLEHWNE KO/TMYECTBA BbliMyCKaeMoM NPOoaAYyKLMN K KONIMYECTBY
3an4yacTen NoAYNHAETCA 3aKOHY:

Ynci10 BblllyCKaeMOW NpoAyKuun _ 19x + 83 + 7
Yucsio 3anyacreit T 2V1145 | 3V11-4 @ V1142

roe x npeacrtasnfaeT cobom OTHOLLEHME OMepaTOpPOB CTAHKOB K YMCY CTaHKOB. [TOHATHO, YUTO X
npeacraendaeTca B Buae m/n, roe m—4vncno ornepatopos, n— YMUCAO0 CTAaHKOB, CYTb YMCNa Lenble U
HeoTpuuaTenbHble. CyLLecTBYeT /1M TAKOM X, YTO OTHOLLIEHME KOMTMYECTBa BbiMyCKaeMOn NPOaYKLNM K
KO/IMYecTBYy 3anyacTemn Takke NpeacTasniaeTca B Buae p/q, roe p u q 6yayTt HeoTpmuaTenbHbIMU LLebIMU
unmcnamm?

1. Hert, He cyLuecTByerT.

2. a, CyLLeCTBYyeT, NP1 3TOM X BbII'IOl'IHeHOZS = 0.

3. [da, CYLUECTBYET, MPN 3TOM X BbII'IOI'IHeHO:S =12
p 7

4. 1a, CYLUECTBYET, MNPV 3TOM X BbII'IOI'IHeHO:; = >

BapuaHm 4. Ha HEKOTOPOM 3aBOoe OTHOLLEeHME KO/InM4YeCTBa BbII'IyCKaeMOIZ npoaykumn K Konmim4ecTBy

3an4yacTten noguuHAeTCcA 3aKOHYy:
Yuciio BellycKaeMoW NpoAyKiun _ 11x 176 44

= + +
Yuciio 3amdacreit 2V5+3  6V5-2  V5+7’
roe x npencrtas/iaeT coboV oTHOLLEeHUe onepaTtopoB CTaHKOB K4YNCJ/1ly CTaHKOB. I_IOHFITHO, YTO X

npencTaBnaeTca B BUae m/n, roe m—4mcno onepaTopoBs, n — YMCA0 CTAHKOB, CyTb YMCAa Lenble U
HeoTpuuaTtesnbHble. CyLlecTByeT /I TaKOM X, UTO OTHOLLEHWE KONIMYECTBA BbiNyCKaeMor NpoayKuum K
KO/IMYecTBYy 3anyacTemn Takke NpeacTaBnaeTca B Buae p/q, roe p u q 6yayTt HeoTpmuaTenbHbIMU LLe/bIMU
yncnamn?

1. Her, He cywlecTByerT.




2. Oa, cyllecTByeT, NpY 3TOM X BbIMNO/IHEHO:
3. [a, cyllecTByeT, NpU 3TOM X BbIMNO/THEHO:

4. a, CyLLEeCTBYET, NP 3TOM X BbINOJ/THEHO!

QIVRITQIT
WN|Ww
N gt e

BapuaHm 5. Ha HekOTOpOM 3aBoae OTHOLLEHME KOIMYECTB BbliMyCKAaeMOM NPOAYKLNM K KOTNYECTBY 3anyacTemn

nog4vynHAETCA 3aKOHY:
Yuc/10 BbINYCKaeMOU POJyKIMH 33X 21 7

= + —
Yucsio 3amyacreit 5V742  3V7+6  \7+2’
roe x npencras/AaeT coboV OTHOLLEeHUe onepartopoB CTaHKOB K 4YNCJ/1ly CTAHKOB. I_IOHHTHO, YTOo X

npencTaBnseTca B BUAe m/n, roe m—4mcno onepaTopoB, n — YMCA0 CTAHKOB, CyTb YMCNa LieNble U
HeoTpuuaTenbHble. CyLLECTBYET /i TAKOW X, YTO OTHOLLIEHME KOMTMYEeCTBa BbiMyckaeMom NpoayKLUmm K
KO/IMYecTBYy 3anyacTemn Takoke NpeacTaBnaeTca B Buae p/q, raoe p u q 6yayT Nono>XKNTeNbHbIMUA LLeNbIMU
uncnammn?

1. Hert, He cyLwiecTByerT.

2. 1a, cyuliecTByeT, NIpM 3TOM X BbII‘IOI‘IHGHO:% = 0.

3. [a, cywiecTByeT, Npn 3TOM X BbmonHeHo:S =12
p 7

4. [a, cyuiecTByeT, Npy 9TOM X BbII‘IOI'IHeHO:E =5

BapuaHm 6. Ha HEKOTOpPOM 3aBoae OTHOLLEeHMe Ko/inyecTea BbII'IyCKaeMOIZ npoaykKumn K Konn4yecTBy
3an4yacTten NnogunHAeTcA 3aKOHY:

Yuciio BbllycKaeMoW NpoAyKiun _ 11x + 24 8
Yucro 3amyacrei T 5VI9+2 | 3y99+6  3VIi+2’

roe x npeacrtaenseT co6oM OTHOLLEHME onepaTopoB CTAHKOB K YMCY CTaHKOB. [TOHATHO, UTO X
npeacTtaBnseTca B BUAe m/n, rge m—4ncno onepaTopos, n — YMCNO CTAHKOB, CyTb YMCNa Liefble U
HeoTpuuaTesnbHble. CyLLLeCTBYET /I TAaKOM X, UTO OTHOLLIEHME KOMMYECTBA BbiMyCcKaeMoM NpoayKLmMn K

KO/IMYeCTBY 3anyacTen Takke NpeacTaBiaeTca B Buae p/q, roe p u q 6yayTt HeoTpmuaTenbHbIMU LLETbIMU
ymncnammn?

1. Hert, He cywiecTByerT.
2. [la, cyuiecTByeT, NIpM 3TOM X BbIMOHEHO:

3. [a, cylecTByeT, NPy 3TOM X BbIMNO/THEHO:

SEREES

4. Nla, cyuiecTByeT, NPU 3TOM X BbINOMHEHO:

QIVRITVQIT

3apaua 6

Bapuarnm 1. BepwimnHbl B n D nogo6Hbix TpeyronbHMKoB ABC n ACD nexkaTt no pasHble CTOPOHbI OT NPAMON,
npoxoasLlen yepes Toukn A u C. Hanaute oTHoLeHme otpeskos BC:AD, ecnu AB=4, CD=6, a npambie BC n AD
napannenbHbl.

1.4/9

2.2/3

3.4/3

4.2/9

BapuaHm 2. BepwinHbl B D nogo6bHbix TpeyronbHnkoB ABC n ACD nexkaT no pa3Hble CTOPOHbI OT MPSIMOM,
npoxoasLlen yepes Toukn A u C. Toukun E n F nexkat Ha otpeskax AB u CD cooTBeTcTBEHHO. HangnTe B kKakoM
OTHOLLUEHMU 0Tpe30K EF aennt oTpe3ok AC, cumnTtas oT Toukn A, ecnun AD=7, BC=4, EF=5.4, a npamble BC, AD n
EF napannenbHbl.

1.8/7

2.4/7

3.7/5

4.4/5

BapuaHm 3. BepwinHbl B v D nogo6Hbix TpeyronbHnkos ABC n ACD nexkaT no pasHble CTOPOHbI OT NPAMOWN,
npoxoasLlen yepes Toukn A u C. Hangute paccrtoaHune ot Toukun D go npamoun AC, ecnn AD=5, BC=3, npAMble
BC v AD napannenbHbl, a paccTosiHWe oT Toukn D Ao npaMoit BC pasHo 2y 3.



1.2V3
2.2v5
3.2v15
4./15

Bapuarnm 4. BepwimnHbl B n C nogo6HbIx TpeyronbHnkos ABD n ACD nexkat no pa3Hble CTOPOHbI OT NPAMOWN,
npoxoasLlen yepes Toukn A u D. Hangnte oTHOLWEHWE pagnyCoB OKPY>KHOCTEN, BMIUCAaHHbIX B TPEYTrO/TbHUKN
ABD n ACD cooTtBeTCcTBEHHO, ecnu BD=8, AC=9, a npamMble BD 1 AC napannesnbHbl.

1.8/9

2.2v2/3

3.4/3

4.2v2/9

Bapuarnm 5. BepwinHbl B u D nopgo6Hbix TpeyronbHMkoB ABC n ACD ne>kat no pa3Hble CTOPOHbI OT NPAMOMN,
npoxoasLlen yepes Toukn A u C. Hanante otHoweHme otpe3koB BC:AD, ecnn AB=2, CD=3, a npamble BC u AD
napannenbHbl.

1.2/9

2.1/3

3.2/3

4.1/9

Bapuarnm 6. BepwinHbl B n C nogo6HbIx TpeyronbHnkos ABD n ACD nexkat no pasHble CTOPOHbI OT NPAMON,
npoxoasLlen uepes Toukm A u D. Hangnte oTHOWEHME pagnyCcoB OKPY>KHOCTEN, BIMTMCAHHbIX B TPEYTrONIbHUKU
ABD n ACD cootBeTCcTBEHHO, ecnu BD=4, AC=4.5, a npamble BD n AC napannenbHbl.

1.4/9

2./2/3

3.2/3

4.42/9

3apaua 7

BapuaHm 1. Tpengep BnageeT AByMA KOHTpakTaMu, KOTopble o6ecne4vnBatoTca U3MeHeHNEM LeHbl 6a30BOro

aKTMBa Ha HEKOTOPOE KO/IMYECTBO NYHKTOB X (06paTuTe BHMMaHWE, YTO X ABNAETCA LIENbIM Ynucniom). [Nocne

3aKpbITUA CAENKM KOHTPaKTbl MPUHECTN EMY

V5—4x—x2 V5—4x—x2
x+11 3 2x+11

npuHec He 6onbLue NpubbLIIKN, YeM BTOpON?

1. CywiecTtByeT 6ECKOHEYHO MHOIO TakKMX 3HAUEHUN X.
2. CyuiecTByeT 5 Taknux 3Ha4YEeHN" x.
3. CyuwiecTByeT 6 Taknx 3Ha4YEeHUN X.
4. CywiecTByeT 7 TakKMUX 3HaYeHNN Xx.

$ cooTBeTcTBEHHO. CKOMBKO CYLLIECTBYET 3HAUEHUIN X TakUX, YTO NEePBbIA KOHTPaKT

Bapuarnm 2. Tpengep Bnageet ABYMA KOHTpakTaMu, KoTopble o6ecneymBaroTca USMeHeHMEM LieHbl 65a30B0Oro

aKTMBa Ha HEKOTOPOE KOMMYECTBO NYHKTOB X (06paTuTe BHMMaHMeE, YTO X ABNSETCA LenbiM yncnom). Nocne

3aKpbITUA COENKN KOHTPaKTbl MPUHECN EMY

V5—4x—x2 V5—4x—x2
x+11 3 2x+11

NPUHEC He MeHbLuUe Npubbinn, YeM BTOPON?

1. CywecTtByeT 6€CKOHEYHO MHOIO TakKUX 3HAYEHUN X.
2. CyuwiecTByeT 1 Takoe 3HaUYeHMeE X.
3. CyuwiecTByeT 2 TakMX 3HA4YEHMUA X.
4. CywiecTByeT 3 TakKMX 3HaYEeHUN X.

$ cootBeTCcTBEHHO. CKOMBKO CYLLLECTBYET 3HAUYEHUI X TakMX, YTO MNEepPBbIA KOHTPaKT

BapuaHm 3. Tpe|7|,u,ep BnageetT AByMA KOHTpaKTaMu, KOTopble obecneumBatoTca MUSMEHEHMEM LieHbl 6a30BOro
aKThBa Ha HEKOTOPOE KOTMYEeCTBO NMNYHKTOB X (06paTMTe BHMMaHuMe, YTo X ABNAETCA Le/ibIM ‘-II/ICI'IOM). Mocne
3aKpbITUA CAENKN KOHTPaKTbl NPUHEC/TN eMY



\/8+2x—x2$M\/8+2x—x2
x+8 2x+5
NPUHEC HEe MeHbLLE NPMUBbLINK, YEM BTOPON?

1. CywiectByeT 6ECKOHEYHO MHOIO TakKMUX 3HAUEHUN X.
2. CyuwiecTByeT 1 Takoe 3HaYeHMme X.
3. CywiecTByeT 2 TakMx 3HA4YEHMA X.
4. CywiecTByeT 3 TakKnx 3Ha4YeHUM X.

$ COOTBETCTBEHHO. CKO/bKO CyLLECTBYET 3HAYEHUN X TaKMX, UYTO I'IepBbIVI KOHTPAaKT

BapuaHm 4. Tpengep Bnageet ABYMA KOHTpakTaMu, KoTopble o6ecneymBaroTca U3MeHEHMEM LieHbl 6a30B0Oro
aKTMBa Ha HEKOTOPOE KOMMYECTBO NyHKTOB X (06paTtnTe BHMMaHMeE, YTO X ABMAAETCA LenbiM uncnom). lNMocne
3aKpbITUA COENKN KOHTPaKTbl MPUHECN eMY

\/8+2x—x2$ V8+2x—x

"
x+8 2x+5
npuHec He 6onbLue Npubbln, YeM BTOPON?

1. CywecTtByeT 6ECKOHEYHO MHOIO TakKMX 3HAUEHUN X.
2. CyuiecTtByeT 5 TakmMx 3Ha4YEHUN X.
3. CyuiecTByeT 6 Taknx 3Ha4YEHUN X.
4. CywiecTByeT 7 TakKMUX 3Ha4YEeHUN X.

2
$ cooTBeTCTBEHHO. CKOMbKO CYLLIECTBYET 3HAUEHUIA X TAKWNX, YTO NEepPBbl KOHTPAKT

BapuaHm 5. Tpengep BnageeT AByMA KOHTpakTaMu, KOTopble o6ecnevnBaroTca U3MeHeHNEM LeHbl 6a30BOro

aKTMBa Ha HEKOTOPOE KO/IMYECTBO NYHKTOB X (06paTuTe BHMMaHWE, YTO X ABNAETCA LieNbIM Ynucnom). Nocne

3aKpbITUA CAENKMN KOHTPaKTbl MPUHECTN EMY

V10-3x—x2 V10-3x—x2
3x+4 $ x+2

npuHec He 6onbLie NpmbbIK, YeM BTOpON?

1. CywecTtByeT 6€CKOHEYHO MHOTO TakKUX 3HAYEHUN X.
2. CyuiecTByeT 5 TakmMx 3HaYEHUN X.
3. CyuwiecTByeT 6 Taknx 3Ha4YEeHUN X.
4. CywiecTByeT 7 TakKnx 3HaYeHUM X.

$ cooTBeTCTBEHHO. CKO/MBKO CYLLLIECTBYET 3HAUEHUIN X TAKUX, YTO MEPBbI KOHTPAaKT

BapuaHm 6. Tpenaep BnageeT AByMA KOHTpakTaMu, KOTopble obecnevnBatoTcsa UBMeHeHNeEM LeHbl 6a30BOro

aKTMBa Ha HEKOTOPOE KOMTMYECTBO NyHKTOB X (06paTtnTe BHMMaHMeE, YTO X ABMAETCA UenbiM umcnom). lNocne

3aKpbITUA CAENKU KOHTPaKTbl MPUHECTN eEMY

V10-3x—x2 V10-3x—x
3x+4 3 x+2

npuHec He 6onbLUe NPUBLINN, YEM NEPBbLIN?

1. CyuwiectByeT 6ECKOHEYHO MHOIO TaKMUX 3HAUEHUN X.
2. CyuiecTByeT 5 Taknx 3Ha4YeHUN X.
3. CyuiecTByeT 6 TakKnMx 3HaYEHNN Xx.
4. CywiecTByeT 7 TakKMUX 3Ha4YeHUN X.

2
$ cootBeTcTBEHHO. CKOMBKO CYLLIECTBYET 3HAUEHMI X TaKMX, YTO BTOPON KOHTPAKT

3apaua 8

BapuaHm 1. Toukn M u N — cepeaunHbl ctopoH AB n BC napannenorpamma ABCD. Otpeskn AN v DM
nepecekarotca B Touke E, a otpe3ku DN 1 CM nepecekatotca B Touke F. Hangute EF, ecnu AB=2, BC=5, BD=3.
1.2.8
2.3
3.7
4.5

BapuaHm 2. Toukn M n N — cepegunHbl cTopoH AB 1 BC pomba ABCD. Otpeskn AN n DM nepecekaroTca B TOUKe

E, a otpe3kmn DN n CM nepecekatotca B Touke F. Hanaunte EF, ecnn AB=5\/§/2, ayron BAD paseH 120°.
1.2.8
2.3

3.7
4.5

BapuaHm 3. Toukn M u N — cepeaunHbl ctopoH AB n BC pomba ABCD. Otpe3kn AN u DM nepecekaroTca B TOUKe



E, a otpeskn DN n CM nepecekatotcsa B Touke F. Hangurte EF, ecnu AB=5\/§/2, BC=5.
1.2.8
2.3

3.7
4.5

BapuaHm 4. Toukn M n N — cepeaunHbl ctopoH AB n BC pomba ABCD. Otpeskn AN u DM nepecekaroTca B TOUKe

E, a otpe3kn DN n CM nepecekatotcsa B Touke F. Hangurte EF, ecnu AB=¥.
1.2.8
2.3
3.7
4.5

BapuaHm 5. Toukn M n N — cepeaunHbl ctopoH AB n BC pomb6a ABCD. Otpeskmn AN u DM nepecekaroTca B TOUKe

E, a otpeskn DN n CM nepecekatotca B Touke F. Hangute EF, ecnmn AB=5/3, a yron BAD paseH 120°.
1.3
2.6

3.2V7
4.10

Bapuarm 6. Toukn M n N - cepenmnHbl ctopoH AB n BC pomba ABCD. Otpe3kn AN n DM nepecekaroTcs B TOUKe

E, a otpe3kmn DN n CM nepecekatotca B Touke F. Hangute EF, ecnn AB=—25f.

1.2.8
2.6

3.7
4.10

3apaua 9

Bapuarnm 1. Toukn M n N - cepepnuHsbl pebep A;B; n AD ky6a ABCDA;B,C:D;, Touka K nexknt Ha npsamomn C;D;.
HanonTte HanMeHbLLEee BO3MOXKHOE 3HaueHuMe nnowagn tpeyronbHuka MNK, ecnm pebpo kyba paBHO V5.

1.

2
3.
4

NENENRE
[e)} [e)} o (=]

Bapuarnm 2. Toukn M n N - cepepnunHbl pebep A;B; n AD ky6a ABCDA;B,C:D;, Touka K nexknt Ha npsmon BC.
HanonTte HanMeHblLLEee BO3MOXKHOE 3HaueHuMe nnowagn tpeyronsHnka MNK, ecnm pebpo kyba paBHO V5.

4 Y30
T2

5 V30
4

3 56
2

4.3
4

BapuaHm 3. Toukn M u N — cepeaunHbl pebep A;B; n AD ky6a ABCDAB;C:D,, Touka K nexxut Ha npamMon CD.
Hanpgunte HanMeHbLLEee BO3MOXKHOE 3HaueHue nnowann tpeyronsHnka MNK, ecnmn pebpo kyba paBHO V5.

1
2.

ul
N Bl wlN | w
B ENE

3.



5V6
4

4.

Bapuarnm 4. Toukn M n N - cepeguHsbl pebep A;B; n AD ky6a ABCDA;B,C:D;, Touka K nexknt Ha npsimomn B;C;.
Hangnte HanMeHbLLEee BO3MOXKHOE 3HaueHune nnowaan tpeyronsHnka MNK, ecnmn pebpo kyba paBHO V5.

1.

2
3.
4

NENENRE
)} )} (=} o

Bapuarnm 5. Toukn M n N - cepeguHbl pebep A;B; n AD ky6a ABCDA;B;C:D;, Touka K nexknt Ha npsamon CD.
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Bapuanm 1. YncTas npmbbinb OT MOKYMKM 3K30TUYECKOro onuunoHa coctaenaet x* + 19x2 + y? + 9 ponnapos,
roe yuncna x,y ectb MUSMeHeHUA LieHbl ABYyX akTMBOB X 1 Y 3a nocneaHue 24 yaca. [Npn aToM y Tpenaepa,
KENaoLLLEero NPUoBPECTU STOT OMLIMOH, eCTb KOHTPAKT, MO KOTOPOMY OH [A0/MKEH BbINNATUTL 2xy + V3 (4x3 +
12x) ponnapos apyrow ctopoHe. lNpeagnonaras, YTo U3MEHEHUS X 1 Y MOTYT 6bITb 106BIMU BELLLEECTBEHHBIMU
yMcnamu, HanguTe KoNM4YecTBo nap (x,y) Takmx, 4To Tperaep nocne NpMobpeTeHMa onumMoHa ocTaeTca B Hy/e
C y4YeToM BbINAaT Mo KOHTPAaKTy.

1. He cywiecTtByeT HM ogHOM napbl (x,y) TakoW, YTO TPENAEpP OCTaHETCA B HyNe.

2. CyuwiectByeT 6eCKOHEYHO MHOro nap (x,y) Takux, UTO TpeNAEP OCTAHETCA B HyJIE.

3. CyuiecTByeT BCero ogHa napa (x,y) rakas, Uto Tpenaep oCTaHeTCA B Hyfe.

4. CyuiecTByeT BCero 4etblipe napbl (x,y) Taknx, YTo TPENAEP OCTAHETCA B Hy/e.

BapuaHm 2. YncTaa npmbbinb OT MOKYMKKU 3K30TUYECKOro onuunoHa cocTtaenaet 2x* + 18x%2 +y2 +9
[0onnapos, rae Yvcna x,y ectb USMeHeHM s LeHbl ABYX akTueoB X 1 Y 3a nocnegHue 24 yaca. Npun aToMmy
Tpeiaepa, >KenarLLero nprobpecTi 3TOT ONLUMUOH, ECTb KOHTPAKT, MO KOTOPOMY OH [LO/KEH BbINNATUTL 2x2y +
\/§(4x3 + 12x) ponnapoB gpyron ctopoHe. MNMpegnonaras, UTo USMEHEHUSA X U Y MOTYT 6bITb NtO6BIMU
BELLLECTBEHHbIMW YNCNaMU, HaNAMTE KONMYECTBO Nap (x,y) Takux, 4YTo Tpengep nocne npnobpereHmsa onumnmoHa
OCTaeTcA B Hy/le C y4eTOM BbIMNaaT Mo KOHTPaKTy.

1. He cywecTByeT HM ogHOW napsl (x,y) Takomn, YTO Tpenaep oCTaHEeTCA B Hyne.

2. CyuwiectByeT 6eCKOHEYHO MHOrO nap (x,y) Taknx, UTo Tpenaep OCTaHEeTCA B Hy/e.

3. CyuwlecTByeT BCero ogHa napa (x,y) Takas, 4to Tpenaep oCTaHETCA B Hyne.

4. CyuwiecTByeT BCero 4etbipe napbl (x,y) Takmx, YTo Tpenaep oCTaHEeTCA B HyNe.

BapuaHm 3. YncTaa npmbbinb OT MOKYMNKKW 3K30TUYECcKoro onuunoHa coctaenaet x* + y* + x2 + y2 + 6x2y%2 + 3
[0NNapoB, rae Yncna x,y eCTb UBMEHEHUS LIEHBI ABYX akTMBOB X 1 Y 3a nocneaHue 24 vaca. MNMpu aTomy
Tpenaepa, >XenarLiero NPUoGpPecTn aToT ONLUOH, ECTb KOHTPAKT, MO KOTOPOMY OH A0/IKEH BbINAATUTb



4|xy|(x? + y?) + 2v/3|x| monnapos apyroii ctopoHe. Mpeanonaras, 4To U3MEHEHUSA X U Y MOTYT GbITb 1H06LIMY
BELLLECTBEHHbIMW YNCNaMU, HANOUTE KONMYECTBO Nap (X,Y) Takux, 4YTo Tpengep nocne npnobpeteHms onumoHa
OCTaeTCcA B Hy/le C yY4ETOM BbINAaT No KOHTPaKTy.

1. He cywiectByeT HM o4HOM Napbl (X,y) TakoW, YTO TPeNAep OCTaHETCA B Hy/e.

2. CyuiectByeT 6eCKOHEYHO MHOrOo nap (x,y) Takux, UTO Tpenaep OCTaHETCA B Hy/le.

3. CyuwiecTByeT BCcero ogHa napa (x,y) Takas, 4to Tpenaep oCTaHETCA B Hyne.

4. CyuwiecTByeT BCero 4etblipe napbl (x,y) Taknx, YTo Tpenaep OCTaHETCA B HyNe.

BapuaHm 4. YncTas npmbbinb OT MOKYMKU 3K30TUUYECKOro onuuoHa coctaenaet x3 + x|x| + 2V3x+x2% + y?
[0NNapoB, rae Yncna x,y ectb MUSMEHEHMUs LieHbl ABYX akTMBOB X 1 Y 3a nocneaHue 24 yaca. MNpn aToMy
Tpenaepa, xxenawLiero npMobpecTn 3TOT ONUNOH, ECTb KOHTPAaKT, MO KOTOPOMY OH A0/IKEH BbINAaTUTb 2xy +
2\/§y + y|x| + yx? nonnapos apyroii ctopoHe. lNpeanonaras, YTo MU3BMEHEHWA X U Y MOTYT 6bITb NHO6LIMM
BELLECTBEHHbIMM YNCNaMK, HaNAUTe KONMYECTBO nap (x,y) Takux, 4To Tpenaep nocne NnpmobpeTeHmsa onumoHa
OCTaeTCcA B HyJle C yY4ETOM BbINAaT No KOHTPaKTY.

1. He cywectByeT HM ogHOWM napsl (x,y) Takomn, 4YTO Tpenaep oCTaHeTCA B Hyne.

2. CyuiectByeT 6eCKOHEYHO MHOIO nap (x,y) Takux, UTo Tpenaep OCTaHEeTCA B Hy/e.

3. CyLwiecTByeT BCEro ogHa napa (x,y) rakas, Uto Tpenaep oCTaHeTCA B Hyfe.

4. CywiecTByeT BCero 4etblipe napbl (x,y) Taknx, YTo TPENAEp OCTAHETCA B Hy/e.

Bapuanm 5. YncTas npubbiib OT MOKYMKM 3K30TUUECKOro onumoHa coctaensaeT 4x*y? + x* + 8x3y3 + 2x3y +
4x2y* + 3x2y? + 12x? + 2xy3 + y* nonnapos, rae uncna x,y eCTb U3BMeHeHMA LieHbl 1BYX aKTMBOB X 11 Y 33
nocneaHue 24 yaca. lNpn aToM y Tpengepa, >kenaroLlero npnobpecTr aToT ONLUMOH, eCTb KOHTPAKT, N0
KOTOPOMY OH A0/MKeH BbinNatuTh 4v3x2|y| + 4|x||y|xy + 2|x||y|® + 2|x|® Aonnapos apyroi ctopoHe.
Mpennonaras, YTo U3MEHEHUA X U Y MOTYT ObITb NH0ObIMY BELLLECTBEHHBIMU YMCNAMMU, HAUANTE KONIMYECTBO
nap (x,y) Takux, 4To Tpenaep nocne NnpuobpeTeHna onuMoHa OCTaeTCA B Hy/le C y4eTOM BbIMNiaT Mo KOHTPaKTy.

1. He cywiectByeT HM ogHOW napbl (x,y) TakoW, YTO TPENAEpP OCTaHETCA B HyNe.

2. CyuwiectByeT 6eCKOHEYHO MHOrOo nap (x,y) Takux, UTo TpeNAepP OCTAHETCA B HyJIe.

3. CyLecTByeT BCero ABe napbl (x,y) Takas, 4To Tpenaep oCcTaHeTCA B Hyfe.

4. CywiecTByeT BCero Tpm napsl (x,y) Takmx, UTo Tpemngep ocTaHeTCA B Hyne.

BapuaHm 6. YncTaa npmbbinb OT MOKYMKKU 3K30TUYECKOro onuunoHa coctaenaet x* + 19x2 + y? + 9 ponnapos,
roe yuncna x,y ectb MUSMeHeHUA LieHbl ABYyX akTMBOB X 1 Y 3a nocneaHuve 24 yaca. [Npn aToM y Tpenaepa,
>KenaroLero npuobpecTm aTOT ONLMOH, ECTb KOHTPAKT, MO KOTOPOMY OH A0/KEH BbINAaTUTb 2xy +
4\/§|x|(x2 + 3) nonnapoB apyror ctopoHe. MNpeanonaras, YTo UBMEHEHUA X U Yy MOTYT ObITb H06bIMU
BELLLECTBEHHbIMWN YNCNAaMU, HANOMTE KONMYECTBO Nap (x,y) Takux, 4To Tpengep nocne npnobpereHma onunoHa
OCTaeTCs B Hyfne C y4eToM BbINNaT No KOHTPaKTy.

1. He cywiecTtByeT HM o4HOM Napbl (X,y) TakoW, YTO TPENAEep OCTaHETCA B Hy/e.

2. CyuwiecTByeT 66CKOHEYHO MHOIO nap (x,y) Taknx, UTo Tpenaep OCTaHEeTCA B Hy/e.

3. CyuecTByeT BCero ABe napbl (x,y) Takas, 4To Tpenaep ocTaHeTCcA B Hyse.

4. CyuiecTByeT BCero 4etblipe napbl (x,y) Taknx, YTo TPENAep OCTaHETCA B Hy/e.
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Mo npeaMeTy «AHITUNCKUIN A3bIK»:

Vocabulary and Grammar
Variant 1

Choose the word or the phrase A, B, C or D, which completes each sentence correctly.

1. MrJackson needs a of the report first thing Monday morning.
A. print
B. image
C. copy
D. reproduction
2. |found awonderful Persianruginthe ___ market the other day.
A. archaic
B. old
C. antique
D. antiquated
3. The computer course oftentwo-hour___ lessons over six months.
A. composes
B. consists
C. makesup
D. contains
4. The lecture was so boring that | had a very difficult time paying __ and almost fell asleep.
A. interest
B. notice
C. warning
D. attention
5. Authorities are investigatingthe ___ of the fire.
A. reason
B. cause
C. manner
D. way
6. Thisshop haseverything__ from exotic spices to designer clothes.
A. stocking
B. ranging
C. extending
D. varying
7. Hewas___ tothe amount of money he could spend on holiday.
A. limited
B. fixed
C. bounded
D. set
8. Please,___ onceinyour life, try not to be late tomorrow.
A. by
B. at
C. upon
D. for
9. Ofcourse,l___ you! We wentto schooltogether, didn’t we?
A. consider



10.

11.

12.

B. see

C. recognise

D. hold
His ___ of confidence resulted in him not getting the job.
losing
failure

o ® >

missing
D. lack
| heard aloud bangandthe ___ thing | knew, police were everywhere.
A. future
B. following
C. after
D. next
Please__  meto cancel my dentist’s appointment on Tuesday.
A. remind
B. remember
C. retain
D. recall

2. Identify the one underlined word or phrase (A B, C, or D) that must be changed in order for the sentence
to be correct.

13.

14.
15.

16.
17.

On (4 the floor of the Pacific Ocean ) is hundreds of () flat-topped mountains ipy more than a mile
beneath sea level.

«» The community of Bethesda, Maryland, was ) previous ¢ known pyas Darcy s Store.

Irving Berlin swrote “Oh How | Hate to Get Up in the Morning” g while serving in (¢ya U.S. Army pyduring
World War I.

Benny Goodman was sy equally talented as both a jazz g performer ¢ as well as a pclassical musician.

Sirius, the Dog Star, is (s the most brightest star in the sky with g an absolute magnitude about
twenty-three times (pythat of the Sun.

3. Decide which answer (A, B, C or D) best fits each space.

18.

19.

20.

Some economists now suggest that home equity loans are merely a new trap to push consumers
beyond .

A. they can afford

B. they can afford it

C. whatis affordable
D.

able to afford
__ teaplant are small and white.
A. The
B. Onthe

C. Having flowers the
D. The flowers of the

During free fall, _____ up to a full minute, a skydiver will fall at a constant speed of 120 m.p.h.
A. itis

B. whichis

C. being

D. is



21. _____, early approaches for coping with workplace stress dealt with the problem only after its
symptoms had appeared.
A. Although well-intending
B. Althoughitis agood intention
C. Although a good intention
D. Although well-intended

22. The economic background of labour legislation will not be mentioned in this course, __ be treated.
A. trade unionism will not
B. nortrade unionism will
C. norwilltrade unionism
D. neithertrade unionism will

Variant 2

Choose the word or the phrase A, B, C or D, which completes each sentence correctly.

1. Benhasjust bought a house, so he can’t to go on holiday this year.
A. suggest
B. afford
C. cost
D. budget
2. Shecutthecakeintoeight__ after she had blown out the candles.
A. parts
B. figures
C. portions
D. sizes
3. The Smiths have their pianotunedona______ basis.
A. right
B. normal
C. regular
D. proper
4. |called the plumbertogeta(n)____ on how much a nhew shower would cost.
A. estimate
B. guess
C. number
D. count
5. We would never have guessedwhohad ____ the crime.
A. caused
B. had
C. done
D. committed
6. During the festival, the streetswere __ with people from all over the world.

A. congested
B. occupied
C. ful
D. crowded
7. Hehasa__ oflooking at life that is very refreshing.
A. method
B. mean



C. way
D. plan
8. Jameshashadanargument___ Tina and is not speaking to her.
A. in
B. by
C. of
D. with
9. Mymorning____ never changes -1 wake up, take a shower, have a cup of coffee and go to work.
A. practice
B. routine
C. custom
D. time
10. I’ never be to understand what she saw in him!
A. capable
B. possible
C. able
D. probable
11. The hotel ______ free accommodation for children under the age of ten.
A. does
B. provides
C. assists

D. makes

12. Air pollutionhas____ to anincrease in breathing disorders.
A. directed
B. brought
C. led
D. guided

2. Identify the one underlined word or phrase (A B, C, or D) that must be changed in order for the sentence
to be correct.
13. The United States has () import g all carpet wools in recent years (¢)because domestic wools are (ptoo
fine and soft for carpets.
14. Banks (4 are rushing to merge because consolidations g enable them to slash () theirs costs (p) and
expand.
15. y That water has a very high specific heat 5ymeans that without a large temperature change water can (g
add or lose a large pynumber of heat.

16. Killer whales s tend g to wander in family clusters that hunt, play, and (¢ resting ppytogether.

17. Sapphires aweighing gas much as ¢ two pounds have on occasion pymined.

3. Decide which answer (A, B, C or D) best fits each space.

18. In 1858, the site was to become the city of Denver was settled as a way station for outfitting gold
prospectors.
A. it
B. ofit
C. what
D. ofwhat
19. squeezed, the orange juice in a one-cup serving provides twice the minimum daily requirement

forvitamin C.
A. ltisfreshly
B. If freshly
C. Youfreshly



D. Ifitfreshly
20. The major cause
A. theoceantidesare
B. ofoceantidesis
C. ofthetidesinthe ocean
D. theoceans’tides
21. The Sun’s gravity severely distorted the path of the comet entered its wildly erratic orbit around
Jupiter.
A. it
B. when
C. afterthe cometcameintoit
D. oncethe comet

the pull of the Moon on the Earth.

22. creation of such a community was a desirable step, the requisite political upheaval had to be
accepted.
A. Sincethe
B. The

C. Later, the
D. Itwasthe

Variant 3

Choose the word or the phrase A, B, C or D, which completes each sentence correctly.

1. The company will a new line of cosmetics onto the market this autumn.
A. put
B. bring

C. introduce
D. commence

2. Don’tworry! The instructions are very to follow.
A. natural

B. ordinary
C. casual
D. easy
3. Eventhough my grandfatheris 87 yearsold, he’sas_____.as afiddle.
A. healthy
B. happy
C. fit
D. slim
4. Don’t____ thechance to visit the Museum of Fine Arts when you’re in town.
A. miss
B. omit
C. forget
D. lose
5. How long was it beforeyou__ thatyour purse was missing?
A. viewed
B. noticed
C. faced
D. witnessed
6. Ifyouhaveanalibi,itwill____ thatyou were nowhere near the scene of the crime.
A. clear
B. say
C. find



D. prove

7. Alison____ most of her pocket money on cosmetics.
A. throws
B. exploits
C. spends
D. buys
8. Mary_____ herown business when she was only 29 years old.
A. didup

B. made out
C. broughton
D. setup
9. Theonlyreasonwhyhe____ the crash was because he was wearing his seatbelt.
A. saved
B. endured
C. lasted
D. survived
10. Oneofthe most ______ rules of tennis is to always keep your eye on the ball.
A. basic
B. weighty
C. significant
D. extreme
11. ’m sorry, but withoutthe ____ the shop will not be able to give you a refund.
A. recipe
B. prescription
C. receipt
D. formula
12. The only
A. gain
B. advantage
C. plus
D. asset

.of living in a fiat is that it is cheaper than living in a house.

2. Identify the one underlined word or phrase (A B, C, or D) that must be changed in order for the sentence
to be correct.
13. Segregation in (3 public schools g was declare ¢yunconstitutional by the Supreme Court (p)in 1954.
14. It is proving less s costly and more @ profitably for drugmakers (¢yto market ) directly to patients.
15. J. H. Pratt used s group therapy @ early in this century ¢ywhen he brought tuberculosis patients
together to discuss (pits disease.

16. ayNo longer g satisfied with ¢ the emphasis of the Denishawn School, Martha Graham (p)has moved to
the staff of the Eastman School in 1925.
17. On athe rim of the Kilauea volcano in the g Hawaiian Islands (¢)are a hotel p)called the Volcano Hotel.

3. Decide which answer (A, B, C or D) best fits each space.

18. The Model T car, introduced in 1908,  $850.
A. the price was
B. aprice of
C. tobepricedat
D. was priced at

19. The prisoners were prevented from speaking to reporters because .
A. notwanting the story in the papers



B. the storyinthe papers the superintendent did not want
C. the public to hear the story
D. the superintendent did not want the story in the papers
20. Scientists are now beginning to conduct experimentson _____ trigger different sorts of health risks.
A. noise pollution can
B. how noise pollution can
C. thatnoise pollution
D. how noise pollution
21. ___ inthefirst draft of the budget will not necessarily be in the final draft.
A. Although itappears
B. Itappears
C. What appears
D. Despiteits appearance
22. Individual differences in brain-wave activity may shed light on why some people are more prone to
emotional stress disorders ______
A. thatothers are
B. and others are
C. othersare
D. than are others

Variant4

Choose the word or the phrase A, B, C or D, which completes each sentence correctly.

1. The total of money needed for this project is over one million pounds.
A. mass
B. number
C. amount
D. bulk
2. Mrs. James had difficulty in controllingthe class, __ though she was an experienced teacher.
A. indeed
B. just
C. even
D. exactly
3. Therearemanyways __ which you can make food tasty and attractive to children.
A. over
B. in
C. of
D. among
4. JimPerkinswas____ to be the only suitable candidate for the job.
A. imagined
B. hoped
C. designed
D. considered
5. He walked slowly although he was ______late for his appointment.
A. extremely
B. ultra
C. highly
D. intensely
6. Friedaisalways___ avery warm welcome whenever she visits her cousins.
A. saved
B. reserved



10.

11.

12.

C. performed
D. guaranteed
The increase of traffic in cities has resulted ___ more people suffering from breathing problems.
A. of
B. at
C. in
D. to

The man was eventually by the police to come out of his hiding place.

A. persuaded
B. arranged
C. suggested
D. let
Your work fallswell____ the required standard.
A. under
B. short
C. below
D. lower
Jane’s ______ told her that something had happened to her twin sister.
A. affinity
B. aptitude
C. intuition
D. flair
“Youcanalwaysbe__ of our support” my parents told me when | left home.
A. count
B. sure
C. depend
D. rely
For alongtime, hehasbeen___ bybad luck.
A. dogged
B. bugged
C. doomed
D. haunted

2. Identify the one underlined word or phrase (A B, C, or D) that must be changed in order for the sentence
to be correct.

13.

14.
15.

16.

17.

Because of the flourish with s which John Hancock signed the Declaration of Independence, g his hame
«cybecome pysynonymous with signature.

William Hart was an () act g best known for (¢)his roles (p)as western heroes in silent films.

»During the 1960s the Berkeley campus of the University of California g came to national attention as a
o result its radical ppolitical activity.

mArtist Gutzon Borglum designed the Mount Rushmore Memorial and worked on g project from 1925 (g
until p)his death in 1941.

» Like snakes, lizards can g be found on all (¢)others continents p)except Antarctica.

3. Decide which answer (A, B, C or D) best fits each space.

18.

A computerized map of the motorways using information gathered by sensors embedded in the
pavement _____ onalocal cable channel during rush hours.

A. airs

B. airing

C. air

D. toair



19.

20.

21.

22.

The president of the United States appoints the cabinet members, __ appointments are subject to
Senate approval.

A. their

B. with their

C. because their

D. buttheir

Like Thomas Berger’s fictional character Little Big Man, Lauderdale managed to find himself where

__ ofimportant events took place.

A. itwas an extraordinary number

B. there was an extraordinary number

C. anextraordinary number

D. anextraordinary number existed

__ behind government secrecy for nearly half a century, the Hanford plant in central Washington
produced plutonium for the nuclear weapons.

A. ltishidden

B. Hidden

C. Whichis hidden

D. The plantis hiding

Since an immediate change was needed on an emergency basis,
railway expenditure.

A. soitwasproposed

B. was proposed

C. because of the proposal

D. itwas proposed

by the governor to curtail

Keys
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Reading

Variant 1
TEXT I

Read an article about noise. Choose the answer (A, B, C or D) which you think fits best according to the
text.
Noise: traveller’s enemy or traveller’s friend?

‘Passport, boarding pass, phone...” As my taxi zips towards the airport, suddenly a cord of panic pulls tight
around my chest. | thrust my hand into one compartment of my handbag, then another. It’s not anywhere. My
mouth opens, and the words, ‘Driver, turn around! Now!’ almost spring out. But | swallow them. We’re halfway
to the airport, and I’m already running late. Surely | can survive one trip without my supply of foam earplugs?

I’m a generally good traveller except for one thing that undoes me every time: noise. Ask me about my absolute
worst travel experiences, and I’ll tell you the story about that night | spentin a cheap hotel that also happens to
be the venue for the most popular Saturday night disco in the area. Elsewhere, there were the chickens that
always began crowing at 2 a.m. at a rural retreat (no one, | guess, informed them that they shouldn’t get going
until dawn). And there was also the deeply discounted hotel room with ‘swimming pool view’ that | was so
pleased with myself for finding. The swimming pool, it turned out, was under renovation. Actively. With power
drills. Directly below my window.

In my ideal traveller’s world I’d control the volume of everything, like a music producer at a giant mixing board.
There would be no blasting television sets hanging above public squares or embedded in taxi seats, no cheesy
songs playing in the shops. Loud noise would be completely absent. Everywhere. But no traveller can remain in
a perfectly controlled sonic bubble. Not when we’re moving through a world in which what constitutes noise has
so many differentinterpretations, including whether noise is ever a bad thing. For sound is relative: one person’s
noise is another person’s music, or expression of happiness.

On one of the first extended trips | ever took, | travelled to an island for Carnival, which is basically like deciding
to pitch your tent inside a dance hall for three weeks. At any hour, different kinds of music would float through
the air and, without warning, straight into my ear. Neighbours shouted to each other over the din, then turned up
the volume on their radios. It was a non-stop celebration, during which | got very little sleep. It was fabulous. The
thing is, the noise that wraps a city in Carnival happiness is more than just noise: it’s the sound of a human
community. To block it out is to risk missing something really fundamental about a place - and the reassuring
feeling of being part of something larger than yourself. Noise brings people together. I’'ve learnt this over and over
in my travels, but it hasn’t been an easy lesson to accept.

| struggle against my instinct to isolate myself in a cocoon of silence. | really don’t want to cut myself off from
the thrill of human noise. But | don’t want to go crazy, either. Nowadays, unwanted — and largely non-human —
sounds push and shove travellers from all directions. Cars, subways, construction, jet engines: their clamour
seems omnipresent. Yet instead of lowering the volume of everyday living, we seem to layer noise upon noise.
The hotel bar jacks up its techno music to counteract the babble in the lobby. The traveller walking along traffic-
choked streets retreats into her iPod.

On the plane, | press my foam earplug deep into my ear. As it slowly expands to fill my ear canal, | savour the
journey into the bliss of noiselessness. Thank goodness the convenience store at the airport stocks one of
travel’s most essential items. The headache-inducing whine of the jet engines magically fades away, and I’'m
once again the master of my private sonic world. To appreciate the comfort of noise, you also need the comfort
of silence. I’'ll unplug when I get to where I’m going.

23. What is the writer doing in the first paragraph?

A demonstrating how well organised she is
B explaining why she is in a particular situation



C describing something that often happens to her
D showing how important something is to her

24. What do the writer’s worst travel experiences tell us about her?

A Sheis annoyed when the facilities advertised are not available.
B Sheis willing to stay in places that are not particularly luxurious.
C Shetries to plan ahead in order to avoid certain situations.

D Shefinds unusual locations especially attractive.

25. What does the writer say about her ‘ideal traveller’s world’?

A Sherealises itisn’t actually the best way to travel.
B She wishes she didn’t have to share it with others.
C She travels inthe hope of finding it one day.

D She knows other people wouldn’t like it.

26. How does the writer feel in the final paragraph?

>

relieved she will not have to hear any noise at her destination

B grateful to know she can find earplugs wherever she goes

C pleased she can decide for herself whether to hear things or not
D glad to be able to choose what music she’ll listen to on the flight

TEXTII

Read the article below about the Hollywood sign in the United States of America.
Choose the best sentence to fill each of the gaps.
For each gap 27-32, mark one letter (A-G).
Do not use any letter more than once.

The sign on a hill
At the top of a hill called Mount Lee in Los Angeles on the west coast of the USA is a very famous sign,
recognisable to people around the world. My job is to look after this sign. It says Hollywood and that’s of course
the place where films have been made for over a hundred years. The first film was made there in 1907 and by
1912, at least 15 independent studios could be found making films around town.

The film industry continued to grow and the name Hollywood, which by the 1920s represented not just a city but
also anindustry and a lifestyle, was made official when the ‘Hollywoodland’ sigh was erected in 1923. [twas only
supposed to last about a year. (27) But it wasn’t always. It started out as a massive billboard advertising
an upscale suburban development called Hollywoodland.

In the 1940s, TV started to become popular and some Hollywood film studios closed, but then TV companies
moved in and took them over. At this point, the city of Los Angeles decided to renovate the sign. The letters
spelling ‘land’ were removed and the rest was repaired. Modern Hollywood was born. The letters in the sign
weren’t straight and stillaren’t. (28) __ They follow the shape of Mount Lee and this is part of their fame.

| am responsible for maintaining and protecting the sign. (29) When | first arrived in 1989, security was

pretty low-tech —we put up a fence around the sign to stop trespassers messing with it. But people just jumped
over the fence. The back of the sign was black with graffiti — there was barbed wire across it, but they still got
through. So | decided to improve the effectiveness of the security.

Now we have motion-detectors and cameras. Everything goes via the internet to a dedicated surveillance team

watching various structures around the city. (30) Butthey can get a closer look on one of my regular tours.

It’s also important to protect the sign’s image as it’s used in loads of adverts and news pieces. There’s a simple
rule about how the sign can be used. (31) However, it mostly comes down to the look. To take a different
example, if you used ‘Hollywood’ in the name of your company it would depend what the word looked like,



whether it was just spelled out or whether the image of the sign itself was used.

People call up with the mostridiculous ideas. They want to light the sign, paint it pink, or cover it in something to
promote their product. You’ll get a really enthusiastic marketing executive call up, terribly excited because they
think they’re the first person to think of this or that idea. (32) That’s because we don’t like to change the
image and we hope it will have the same significance for generations to come.

A Even so, people still try to climb over the barrier, mostly innocent tourists surprised that you can’t walk
right up to the sign.

They mostly get turned down.

If one of them ever fell down | would have to put it back up at exactly the same angle.
We used to have real problems.

Things have changed a lot since then.

It’s still there, of course, and is a symbol of the entertainment world.

If the purpose is commercial —to promote something — payment has to be made.

Variant 2
TEXT I

Read an article about a traveller called Colleen Kinder, who has visited the hottest place in the world.
Choose the answer (A, B, C or D) which you think fits best according to the text.

A journey to the hottest place on earth

Cofleen Kinder travels with her father to the Danakii desert in Africa.

No one travels alone to the hottest place on earth. You need, for starters, a driver and a Jeep stocked with water
and four days of non-perishable food. There are no places to lodge or dine in this desert, so you’ll need space for
beds and someone who knows how to cook. And finally, because a journey like this costs many thousands of
dollars, you’ll need some fellow travelers to split the bill — the sort of people who like to fry themselves on
vacation.

My father is the easiest recruit. Dad, who naps best roasting in the afternoon sun, is a lover of extreme heat. He’s
also an extreme traveler, drawn to the fringes of places, all the countries where no one vacations. From my
father, I’'ve inherited both tendencies: I’m known for getting bright pink sunburns, and also for stalking the edges
of maps. The Danakii desert lies on the fringes of several countries, which claim a sliver of this sweltering, low-
lying desert, named the cruelest place on earth. | don’t have to mention this to my father — not the endless salt
flats, lakes the bright color of mouthwash, or camels by the thousands. When Dad starts calling this desert ‘the
frying pan’, | know he’s in.

We enlist three more people and in Mekele, the starting place for our voyage, we merge with four others. We fill
five Jeeps and have nothing in common but a love of travel, and a willingness to sweat for it. The Jeeps plunge
down mountains for hours. The heat, of course, is brutal. | remind myself this is just a warm-up. The real heat
won’t strike until we reach the sizzling edge of the frying pan, an uninhabited region, roughly 130 meters below
sea level, called Dallol, which holds the record for the highest average annual temperature: 94 degrees.

As we continue, sand gives way to salt, and soon we’re in a landscape of white crystals glinting in the fresh
morning light. The ground is miraculously flat. Our driver, who has been battling fine sand, cannot resist the urge
to go for it. We surge ahead of the other cars in what looks like a Jeep race across some frozen lake. Suddenly,
in the pure white expanse, a huge brown mound appears. We’re ordered by our guides to find a full liter of bottled
water, and to bring it with us up the lumpy brown mountain.



Atthe summit, | find my travel mates standing in a kind of silent daydream. Astonished, they crouch down beside
pale green toadstools — mineral formations whose glossy tabletops are smooth as marble. The hottest place on
earth is an assault of color: yellow and deep rust, pea green and purple. Some of the formations look like coral
reefs, others like egg shells, air-blown from the hot breath of the earth below. Everyone wanders off alone,
crunching over the earth, heads down, staring at the ground and shaking their heads.

| know the ground is hot — you can even hear water boiling underground. Everywhere we step, things break and
splinter. Just when | work up the nerve to step with force, the purple ground collapses beneath my foot. The
sneaker | pull back out is covered in bright yellow stuff. You start to think: we really shouldn’t be here. This desert
wasn’t built to handle a human intrusion, and the human body certainly wasn’t built to handle this desert.

Back in the Jeeps, blazing towards the white horizon, | look down at my sneakers. The fluorescent yellow stuff
has faded into neutral dirt, like that was all just some fever dream up there, a place we made right up.

23. What point does the writer make in the first paragraph?

A Planning for a trip in the desert is straightforward.

B Hightemperatures can cause problems for travellers.
C Travelling individually in the desert is unwise.

D The expense of desert travel puts many people off.

24. What does the writer say about her father in the second paragraph?

A He’s passed on his love of travelling in remote places to his daughter.
B He misses having company when he goes to unusual places.

C He prefers toresearch places for himself than listen to others.

D He likesto plan every detail of a journey by studying maps.

25. What does the writer suggest about her fellow travellers in paragraph five?

A They find it difficult to look at the brightness of the colours.

B They are disappointed by some of the things they see.

C Theirsurroundings are impossible to make sense of.

D They are unable to take their eyes off the scene in front of them.

26. How does the writer feel as she is walking around on her own?

A shocked by the fact that the ground is so soft

B afraid that she might never find her way out of the place
C worried that she is going to hurt herself

D uncertain about whether she is doing the right thing

TEXTII

Read the article below about a teacher called Chris Searle.
Choose the best sentence to fill each of the gaps.
For each gap 27-32, mark one letter (A-G).
Do not use any letter more than once.
Stepney Words
Chris Searle started teaching at Sir John Cass Secondary School in Stepney, East London, in 1970. This particular
job had appealed to him partly because he knew the area. More importantly, he had done his postgraduate thesis
on an East End poet, Isaac Rosenberg, and saw this part of London as ‘a very poetical place’.

Searle had only just qualified but certain progressive ideas about education were already settling in his head.
(27) Some of the governors and teachers were ex-army or had a church background; gowns were worn
and canes were used to punish trouble-makers if necessary. Stepney was a poor area and the rest of the staff



saw no hope for their pupils. However, to Chris Searle, these under-achieving teenagers were the ‘sons and
daughters of the poet Rosenberg’ and poetry was the key that would unlock their potential.

(28)__ The shortverses they wrote were sad and often bitter, with the East End shown as a place of no hope.
To some of the staff at Sir John Cass, Searle’s approach was alarming. Here was a teacher in his early twenties
using the school as a laboratory for radical theories of education, and encouraging pupils to speak out. His
classroom was noisy and lots of the girls had crushes on him. He saw pupils after school too, as he ran a half-
price film club and lived in Stepney, unlike most of his fellow-teachers, who fled each night to the suburbs.

Despite the negative attitudes of colleagues, Searle continued to focus on poetry. He persuaded a photographer,
Ron McCormick, to bring his portraits of East London into class and with these visual images, the poems got
better and better. (29)
Searle not to go ahead with the collection, but by March 1971, Stepney Words was out, paid for by Searle and
parents. Extracts were even printed in the Sun newspaper.

The school governors, who thought these poems were too ‘gloomy’, had ordered

Searle’s ‘enemies’ (his own word) now made their move. One lunchtime in late May, the head called Searle in
and fired him, instructing him not to come in after the end of the month. (30)
willed 16-year-old girl from Gibraltar, took charge: ‘We arranged for people to tell each class. Immediately,
everyone wanted to take action.’

Zeinaida de la Cruz, a strong-

When asked recently why they had all taken such a strong line on the sacking, she explained: ‘It just didn’t seem
fair that a teacher everyone liked was being thrown out.” She remembers walking into the offices of a local
newspaper after school to tell them what was going on. (31)
next morning and found some 800 children standing outside the gates in the rain, where they stayed all day.
Thanks to Zeinaida, the journalists came along too. There was also a sympathy walk-out by the cleaning ladies,

Searle walked nervously to the school the

who made their feelings known by refusing to wipe the ‘Don’t sack Searle’ graffiti off the school walls.

Other schools joined in and the next day there was a march to Trafalgar Square, in the centre of London. Searle
stayed away, not wanting to be seen as their leader, but he did not let the matter rest from then on. (32)

He also fought his dismissal through the union. In May 1973, the government education secretary, Margaret
Thatcher, ruled that Searle should be reinstated at the school. However, ignored by other staff and denied a class
of his own, he decided to leave the school for good in July 1974. Searle has continued to teach, however, and
has worked in many different countries around the world. He has also published his own poetry.

A His class heard the news the same afternoon.
B However, many pupils had seen their own parents on strike picket lines, so they did.
C Searle contacted a local printer to arrange for their publication.
D They called the national press, which transformed the protest into a major event.
E These views were not shared by the school, which, although quite new, was run very traditionally.
F Although banned from the school, he managed to publish a second Stepney Words later that year.
G Sohe madethemread it and write it, believing that in this way, his pupils would make sense of their lives
and their surroundings.
Variant 3

TEXTI

Read an article below. Choose the answer (A, B, C or D) which you think fits best according to the text.
A walkinthe midday sun

When the heat is on, walkers need to be on their guard

Hot weather makes your heart pump harder, and if you’re not very fit, you start to understand why the majority



of mountain rescue statistics are made up from summer walkers suffering heart attacks. Heat exhaustion is
quite easy to get when you’re making a great physical effort. It happens where your body can’t produce enough
sweat to keep you cool.

The answer is to keep up your water intake. It’s a good idea to drink a pint of water for every 10 degrees Fahrenheit
every 24 hours. So, if the temperature is in the 70s, and you are doing a five-hour walk, you’ll need a minimum of
around one and a half pints of water. It’s vital that you don’t wait until you develop a raging thirst before you stop
for a drink — keep taking regular swigs from your water bottle.

Many walkers flavour their water with fruit juice, which makes it a lot more palatable. You could even use one of
the isotonic drinks made for athletes, which replace the body’s salts lost through sweating. Powders such as
Dioralyte, which you may have in the house as a treatment for diarrhoea, will do the job just as well, as its main
aim is also effective rehydration.

Given that evaporation is your body’s cooling mechanism, you can help things along with an external application
of water. Soaking your hat with water is a great way to cool the head, though if the sun is beating down, it will
probably dry off almost immediately. Better still, then, if you can plunge into a river or the sea fully-clothed. And
if that’s not possible, then at least take off your boots and socks and paddle in a cool stream.

Walking in the heat increases the rate at which your feet swell, which can lead to them feeling tight in your boots.
Cool water from a stream reduces any swelling and helps general foot comfort. At the same time, you can check
out your feet for signs of blisters. Extra sweating makes the skin softer and increases the chance of blisters
forming, in the same way as when water leaks into your boots and gets to your feet.

As for what clothing you wear, this should be lightweight and reasonably loose-fitting. Tight clothing will feel
uncomfortable and may even lead to the formation of an irritating rash known as ‘prickly heat’ on your skin. The
answer, if this does develop, is to try and stay cool as much as possible. Do this by either keeping in the shade,
or washing the affected area with cold water, but without soap. But prevention is by far the best approach, so
keep your clothing light.

It’s understandable to want to remove any extraneous clothing when it’s extremely hot, but it doesn’t really make
much sense to take off T-shirts. The sun’s rays can be quite strong, and shoulders are always very sensitive to
sunburn. This is the worst place to be red and sore when you are wearing a heavy rucksack on your back. Wearing
shorts can also create problems for walkers, as the backs of the legs can catch the sun very easily.

In fact, those days when an apparently harmless breeze is blowing can be the most deceptive. It might not feel
so hot, so you probably won’t notice the damage being done so soon. As on every other day then, a good strong
sun cream should therefore be applied to any skin which is exposed. Make the most of the summer, but treat the
sun with the respect it deserves.

23. The writer says that hot weather

A isthe main cause of heart attacks.

B ensuresthat mountain walkers stay fit.

C requires walkers to have frequent drinks.

D isthe worsttype of weather for mountain walking.

24. What does the writer say about ‘Dioralyte’?

>

It helps to reduce sweating.

B It prevents the loss of body salts.

C It will prevent you getting diarrhoea.

D Itworks inthe same way as an isotonic drink.

25. According to the writer, itis better to wear loose-fitting clothing because

A itkeepsyou cool.
B itis usually very light.



C it lasts longer than tight-fitting clothing.
D itisless likely to create problems for your skin.

26. According to the writer, when are walkers particularly at risk from the effects of the sun?

A if their sun cream is not strong enough
B when they are unaware of the heat

C if they have suffered an injury

D whenthereis a strong wind

TEXTII

Read the article below about detecting crime.
Choose the best sentence to fill each of the gaps.
For each gap 27-32, mark one letter (A-G).

Do not use any letter more than once.

The Professionals

When it comes to fighting crime, it is science which is king. Sherlock Holmes was right to spend his time
examining every footprint and strand of hair in his search for the criminal. Today, though, things have moved on
and; scientists have a wider range of techniques at their disposal.

Modem scientists believe that itis impossible for someone to commit a crime without leaving something behind
or taking something away with them. (27) __ They may take the form of fingerprints, hairs, and fibres from
clothing, tiny traces of chemicals, documents, bullets or fragments of glass. This evidence is collected and
studied by forensic scientists.

Science is applied to crime-fighting now more than ever before. (28) In addition, old techniques are
constantly being improved so that they can be applied to smaller and smaller traces of materials.

Not all evidence carries the same weight of proof. A fingerprint offers definite identification of a person’s
presence at the scene of a crime. (29) Even if an item does not offer enough proof to stand up in a court
of law, it can still assist the police in focusing their enquiries in a certain direction.

Fingerprints have been used to help identify criminals for almost 100 years. (30) In most cases it works
very well, but sometimes, different methods are needed.

Forensic scientists can now use a small portable laser to look for fingerprints. The scientist ‘paints’ the scene of
the crime with the laser beam. As it sweeps across doors, walls and furniture, any fingerprints present glow
because they are fluorescent.

An even more recent technique is called DNA profiling. (31)
code that determines what we look like and how we develop. The code takes the form of long strings of molecules

Each contains a unique code, the genetic

called DNA, and no two people have identical DNA unless they are identical twins. A technique for reading
genetic codes was developed in the 1980s. DNA profiling, or genetic fingerprinting, was rapidly taken up by the
police and forensic scientists as a way of linking suspected criminals with their crimes.

The process of making a DNA profile may begin with a scrap of stained clothing found at the scene of the crime.
(32) With a good sample that is rich in DNA, the chance of two people producing the same genetic
fingerprintis only one in 2.7 million, which is good enough for a court of law.

A Inthat time, many new scientific research methods have been developed, although the traditional way
of dusting surfaces for fingerprints is still used most of the time.

The human body is composed of millions of microscopic cells.

C However, afootprint may only suggest that someone was there.



D Onthe other hand, certain scientists specialise in gathering evidence from the scene of the crime.

E As people find new ways to cover their tracks, scientists develop new techniques for linking suspects
with their crimes and proving if they are guilty or innocent.

A tuft of hair or spots of blood or saliva can be used too.

G If these traces of evidence can be found, they may provide the proof needed to bring the criminal to
justice that s, take them to court.

Variant4
TEXT I

Read an article about travel. Choose the answer (A, B, C or D) which you think fits best according to the
text.
The experience of travelling

| have just returned from a long weekend break in Lisbon, to enjoy the southern European weather. From a base
in the old town which forms the heart of the city, | tested my calves on long uphill walks to districts that qualify
the Portuguese capital as European city, according to the people who write travel reviews on the internet. | ate
poorly in tourist traps and exquisitely at the hands of genius chefs. | took in the central monuments and the
hidden wonders in the industrial part of the Lisbon shoreline. | covered a good few kilometres, | can tell you, as
you would in most large cultural towns.

Lisbon is a great city thatis really open to tourists, and | like it enough to return soon. | felt refreshed and pleased
not to have to think about work. But did | learn much or emerge an improved person? No. On my travels, | rarely
do, and | am not sure that anyone does. The more of the world | see, the less confident | am that there is anything
innately educational about travel. It is worth doing because it is fun. Travel is for the senses, not the character.
Funis a good enough reason to do anything, as long as we do not kid ourselves that something more profound is
at work.

The most frequent travellers | know are not wiser or smarter than anyone else. At worst, travel can make people
a bit too sure of themselves. They tend to rely all the time on personal anecdote: whatever they saw of a place
represents the truth. They tend to under-rate the character formation that takes place at home: the quarrels, the
disappointments, the mistakes learned from. And our culture tends to encourage them in their misbeliefs.

Imagine you are an employer staring, at two job applications that are identical in all respects save one.
Candidate A spent a gap year between school and university seeing the world - funded, incidentally, by Mum
and Dad. Candidate B spent the same year stacking shelves in a local supermarket. One of the hopefuls showed
self-reliance, commitment, cooperation and a certain grown-upness. The other is Candidate A. Yetours is still a
world that rewards the gap-year wanderer with the big well-paid job, a world where ‘well-travelled’ is still a
synonym for ‘clever’.

In a sense, travelis kind of hangover from a time when few people went abroad, and when little knowledge about
the wider world was available to those who did not go abroad. The effect was that people who had done a couple
of international trips could feel they’d done a great thing: they felt more cultural and intellectual. That era of
travel ended in the mid-1990s when the internet was born. We can now not just read in detail about anywhere
on earth, but instantly see videos of it with high-definition clarity. Our potential to be surprised or educated by a
visit to a place has diminished. | would go as far as to say that anyone who is consistently discovering’ things on
their travels is uncurious when at home and not perceptive when abroad.

In the modern world, the only way to learn much more about a place than you could remotely, is to live there for
a sustained period, paying taxes and using local services. Mere travel is no great source of insight, which leaves
justone reason to do it: fun. That’s more than enough. | enjoy travel, including the bits many people hate. | enjoy
the boring atmosphere of airports, the anonymity of hotel rooms where there are no distractions, the useful
isolation of long-haul flights. If | could afford it, | would go on regular London-to-Sydney trips just to finish long



and interesting books in one sitting. But precisely because | take so much pleasure from travel, | can see through
any attempt to cover it in virtue.

23. The writer says that internet reviewers seem to rate Lisbon highly on the basis of

A the unusual layout of the city

B the wonderful cuisine available there.

C how pleasant (easy) itis get around on foot.

D the areas of interest away from the city centre.

24. What point is the writer making in the second paragraph?

A We can’t expect travel to be continually enjoyable.

B We shouldn’t pretend that travelling is a deep experience.

C We can’t expect a place to feel the same when we revisit it.

D We shouldn’t see holidays as a chance to escape from ordinary life.

25. The writer implies that students who travel around the world on gap years

A should stay at university if they want to be considered clever.
B arewrongto assume that employers will be impressed.

C would be better off earning some money at home.

D usually end up in lower paid jobs.

26. In the final paragraph, what part of travel does the writer enjoy personally?

A thefeeling of living somewhere different for a long time
B thethought that it makes him a nicer person

C the opportunity to be alone and undisturbed

D the sense of being as far from home as possible

TEXTII

Read the article in which a woman talks about her childhood.
Choose the best sentence to fill each of the gaps.

For each gap 27-32, mark one letter (A-G).

Do not use any letter more than once.

Growing up in the countryside
Comedian Jo Brand recalls an idyllic childhood.

In 1962, when | was four we moved from Clapham in south London to Kent Back then it was all fields and apple
orchards. For the first couple of years we lived on a modern estate, full of typical, boring three-bedroom houses
with square lawns, a fence and a garden shed. But compared to Clapham it was idyllic and we virtually skipped
to school.

For us children, the excitement of moving to Kent was to do with being close to rabbits, foxes and different kinds
of birds. We were always on the lookout for injured animals we could take care of. One day my father ran over a
badger on his way home from work. (27)

Dad knew he shouldn’t leave him in agony. For some reason he had a garden spade in his car boot. He took it out
and tried to kill the badger by hitting him on the head. (28) My father had the city person’s disease around
animals, which means you can’t bear to be cruel even when you’re trying to be kind. A farmer came along, took
the spade and with one blow put the badger out of his misery.

During the summer holidays after my first year at primary school, | was playing with my brothers, Matt and Bill,



in the garden when we found an injured hare. (29) A cardboard box was found, and an appointment made
at the vet, who said the hare had broken his leg. He putitin a splint and told us what to feed him and how to care
for him.

By this time, the three of us had named the hare Harold, He was put into a rabbit hutch in the garden and we
fought over whose turn it was to feed him dandelion leaves. After a couple of weeks we were allowed to take the
splint off and he started to hop about the garden. | thought he’d stay with us and be our pet. (30)

The three of us started shrieking and | started crying. Although it happened quickly, in my memory, it’s like that
bit in slow motion from the film Chariots of Fire, when they’re all training on the beach. (31) She caught
Harold in mid-air with one hand on each leg, and landed in next-door’s garden.

He stayed for another week or so. (32) Midway through my first week back at school, | came home and he
was gone. It was a huge tragedy.

H Buthedidn’t have the heart to do it.

There’s even music playing in my head as | picture my mother starting to run, then hurdling over the fence.

J  Sowe called out to Mum, who was busy in the kitchen, and asked her to help.

K My mother took pity on him, placed him in a box and took him straight to the vet.
L He gotout of the car and saw he was badly hurt but still alive.
M Then our parents told us that wild animals don’t want to stay cooped up in a hutch like a pet.
N Butone evening, while we were playing with him, he made a bid for freedom and dashed off towards the
fence.
Reading (keys) Variant 1 Variant 2 Variant 3 Variant 4
23 D C C D
24 B A D B
25 A D D C
26 C D B C
27 F E G E
28 C G E A
29 D C C C
30 A A A G
31 G D B B
32 B F F F
Listening
Variant 1

You will hear five short extracts in which people are talking about an activity they do during their leisure
time. For questions 33-37, choose from the list (A-H) one disadvantage of the activity that the speaker
mentions.

Use the letters only once. There are three extra letters which you do not need to use. You will hear the
recording twice.

A The activity can be expensive. 33. Speaker 1

B Thereis a danger of getting hurt. 34. Speaker 2



A good fitness level is needed. 35. Speaker 3
It can be very time-consuming. 36. Speaker 4
People take competitions too seriously. 37.Speaker 5

You have to buy a lot of equipment.

It’s too mentally challenging.
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Men and women are treated differently.

Variant 2

You will hear five short extracts in which people are talking about moving to another country. For questions
33-37, choose from the list (A-H) what each speaker says.

Use the letters only once. There are three extra letters which you do not need to use. You will hear the
recording twice.

A | was very disappointed by the whole experience. 33. Speaker1____
B |wasinterested in discovering new things. 34. Speaker2
C Ilwas surprised by the number of English people there. 35.Speaker3__
D Ithoughtthe cost of living was OK. 36.Speaker4
E |foundithard to adapt to the change of routine. 37.Speaker5
F Communication was sometimes difficult.

G | was concerned about losing my old friends.

H I missed myfamily a lot.

Variant 3

You will hear five short extracts in which people criticise the computer they use when travelling. For
questions 33-37, choose from the list (A-H) the criticism each speaker makes of their computer.

Use the letters only once. There are three extra letters which you do not need to use. You will hear the
recording twice.

A The sound quality is poor. 33. Speaker1____
B The battery runs out too quickly. 34. Speaker2
C Some applications run slowly on it. 35.Speaker3__
D The keyboard is difficult to use. 36.Speaker4
E Thescreenistoosmall. 37.Speaker5
F It looks unattractive.
G Itisdifficult to connect it to other devices.
H Itistoo heavyto carry easily.

Variant 4

You will hear five short extracts in which people are talking about how they got their current jobs. For
questions 33-37, choose from the list (A-H) what each speaker says.

Use the letters only once. There are three extra letters which you do not need to use. You will hear the
recording twice.

A I’d done some unpaid work experience at the 33. Speaker 1 {1:SHORTANSWER_C:=C}
company 34. Speaker 2



B |saw an advertisement on a careers website. 35. Speaker3___
C | hadacontact who worked at the company. 36. Speaker4
D |heard aboutit from a friend. 37.Speaker5__
E Iwas lucky with a phone call.
F lapproached the boss face to face.
G |was promoted from a previous position.
H Ifound out aboutthe company through social
media.
Listening (keys) Variant 1 Variant 2 Variant 3 Variant 4
33. (Speaker 1) G C F C

34. (Speaker 2)

35. (Speaker 3)

36. (Speaker 4)
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37. (Speaker 5)




